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Note: INYIRSHREENRMSRBAS 0. a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Usmng the data make an
appropriate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone 15 sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.

PSS 16006 20 89550 AN IS () (93) S 2.8 296, T (50 1,1 @9
HAe o Do |NSren GToForr aaga)@“oa\az‘bgé
QT 0TQ) G0rN0w), [ )M (DITIEN @%Qé\){@@@é’);
ADJONE NTGTE) BHTOF B @) Wg‘@ow@. %
TG (800 rOGEE (@ en @%’3%&@ (1) DO (4) HG%
90 0N BT 0 ﬁoﬂuo%ﬁ\

(a) D)8 APTR0 aﬁgodﬁaﬁp\@@éo | SRS DTSN o)
2aren (1) H0otod. ~&°

(b) (%)) NSTTTS0 3 %\J DIN0 I ST DTN o)
22 (2) ™ (H00H0R)

(©) DAL NPFTN0 ADI0E (HIITEN 1, I R DTN
90’ o) 2563 57T D00 TEFS D Barad (3) T HO0TI0E.

(d) (9)30 QSPEPHI0 ADIODF (DTN 1, I FON S°E D00
58 9¢385) 3B 030 @S3TNS Q) 2arad (4) T HO0w0A.

Sub questions

Question Number : 1 Question Id : 3944846450 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Five persoisoB:(ofeVidhd Japergaime for a vacation on five different days of a week
from Monday to Friday. Who goes on vacation Thursday?

TE0S FHarB0 0G DETB0 S5% DO Faros pc0HS S:ven P.ORS,
00 Ten VOO ST, HHTE0 VOGD ITBHH?

I)  Only two persons go on vacation after T and before R. More than two
persons go on vacation after R and before P.

T SHDare R §0) 0060 WS 2353060 SIS VOH D IFHOH. R
e58)ared, P §a)) 00D A 0335008) 250700 DO VY D FFHAH

o

] " 1 1 . .
ITI) T goes on vacation immediately before S, only one pers@ o1l vacation

&
after S and before R and P goes before Q. c&

S 509 MOTP 2.8 B2 00T T RO 3?@\?@@5@ R §) oS00
SO 2.8 S8 DD IS mi.\@%m 5008 .
%.
Options: \6\'&
39448424801. # 1
39448424802. ¥ 2

39448424803. ¥ 3

39448424804. ¥ 4

Question Number : 2 Question Id : 3944846451 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What is tﬁﬁﬁ@!}}B%@%&E]ﬁ%ébﬁﬁ}amﬂl number N 1s divided by 10 ?

AT HOPE N & 10D PAOT 5t ) B 0eb ?
I[)  Nisdivisible by 2

23 N Q3201 2Rod2

II) N=6% xisaninteger>1

N=6% x(=1) &8 o7 080

Options:
39448424805. ¥ 1

o

39448424806. ¥ 2

39448424807, % 3 %'9

39448424808. ¥ 4 G_)Q

Question Number : 3 Question Id : 394% 52 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Qu n Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Mar@

What 1s the area thhe rectangle?

AHYHEMNE|D0 FF LD 0EH 2

I) The perimeter of the rectangle is 50cm

es A G|D THENT I 50 D O.0W.

II)  The ratio of length and breadth 1s 4 : 1
SPC55Y). BDEEN IO A )ed 4 : 1
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Options https://previouspaper.in/
39448424809. ¥ 1
39448424810. # 2
39448424811. ¥ 3

39448424812. ¥ 4

Question Number : 4 Question Id : 3944846453 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What was the distance between the trains T; and T in the beginning?

BFG0Z0S Ti, Ty D%y SO BrER0e G0TN?
Q
\ .
I)  Trains Ty and T5 cross each other completely in 18 secg@%’hﬂe travelling

in opposite directions. Speed of trains Ty and T» % Spectively 72 KMPH
and 54 KMPH wO

) \
55T OIS HOPEAR), Ty P00 T, TH TS

O 18 SIS w@ﬁ@@;\\h OO Tz © BPEN HDAP

10625 72 8.5, m@%m

II) Length of T;1s 170 meters less than the length of T»
Ty &¥¢3sY, T PC3ehS™) 170 D 680).

Options :

39448424813, % 1
39448424814, % 2
39448424815. ¥ 3

39448424816. ¥ 4

Question Number : 5 Question Id : 3944846454 Question Type : MOS/DEtionStaptfiling : No



Display Questipe \Nwsilsee!.Vés Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who completes the job faster?

&3 DA DI & BT Jr 8 DOHTOS ?

I) P finishes the job m 12 days
12 522S' P es 5D 0T

II)  The same can be completed together by Pand Q in 6 g days

T HA P 2O Q H0aME0T 6252 30 Todife®

Q
Q} .

N

Options: COQ%

39448424817, % 1 A‘\QQ
39448424818, % 2 ,&Q,

39448424819. ¥ 3 .\\Q

39448424820. ¥ 4

&
I\

Question Number : 6 Question Id : 3944846455 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What 15 hitigpS¥ptenivos fepenfivhetic progression?

9083 S F0GE HSF 0 ?

I)  The sum of the first 10 terms of the arithmetic progression is 83

e3 083G 'R INAES 10 HTT IO 85

II)  The sum of the first 20 terms of the arithmetic progression 1s 370

& ©033AS FNGE 20 OBV 370

Options:
39448424821, ¥ 1 \
39448424822. ¥ 2 (&Q
39448424823. ¥ 3 QQ)
39448424824, ¥ 4 Q(b'
| O
.\0

Question Number : 7 Question Id : 39448@ 6 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Q&%n Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks’&%‘

Is 7 a prime number ? \6\'

n 28 DT 05F ?

I)  nleaves remainder 1 when divided by 6

N e 60 N0 a3t ) 300 1

IT) nleaves remainder 5 when divided by 6

N6 B 2PAOIT 5t ) 300 5

Options : https://previouspaper.in/



3944842 h8p5:;/fpreviouspaper.in/
39448424826. % 2
39448424827. ¥ 3

39448424828. ¥ 4

Question Number : 8 Question Id : 3944846457 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the lateral surface area of the right circular cylinder (taking m = 2—?2} ?

& {0 (H560 FTOIM0S (1 =21 3F08)?

Q

)  Volume of the cylinder is 3850 cm? QQ}
W, o v W, = 3 (b.
AP0 SIDOSPE0 3850 0., &Q

O

II) Height of the cylinder 15 25 cm Q\

— - \\
AP0 Deh) 25 0.0 \\Q

&
Options : \6\,’&
39448424829, ¥ 1
39448424830. # 2
39448424831. ¥ 3

39448424832, ¥ 4

Question Number : 9 Question Id : 3944846458 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What {PHEPLREPIRERY e article ?

&3 W) XY B DOk 2

I) Its sale price 1s Rs.10.000/-
O°Q) @9.0250 J© B, 10000/-

IT)  Sale price includes taxes

959250 FOS D) Fre O S0O.

Options : \
39448424833, # 1 &“\Q
39448424834, % 2 QQ)
O
39448424835, ¥ 3 Q
NS
39448424836. ¥ 4 Q‘\Q
&

Question Number : 10 Question Id : 46459 Question Type : MCQ Option Shuffling : No
Display Question Number : Yeﬁ@‘estion Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Maﬁé\.’o
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Find the vioftpsy/ef éhdeuspapheiigit /1 and base radius 7 units.

ErarsrQo T, e b, T (10 $0806Y) adN0STEI 06 ?

I)  The volume of a cylinder of height / and radius  1s 1694 cu. units
AR50 1, ) b O APN0 DN0IPR0 1694 ).
OVWAAY

)  Surface area of a cylinder of height /1 and radius 7 15 242 sq. units

Araesirdo 1 ) b T e APN0 G0 FFTO50 242 .

QHTFDED
Options : ’\’Q\
39448424837. ¥ 1 QQ} )
39448424838, # 2 Q(b'
&
39448424839, # 3 R OQ
N
39448424840. # 4 A
&

Question Number : 11 Question ?944846460 Question Type : MCQ Option Shuffling : No

Display Question Number :X@K

Correct Marks : 1 Wrong Marks : 0

uestion Mandatory : No Option Orientation : Vertical

What 1s the value of x ?

X o)) 0)O6h?

) x2-13x+42=0

II) xi1sareal number
x 8 ) DO

Options :

39448424841, ¥ 1
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3944842 h@p3;/fpreviouspaper.in/
39448424843, % 3

39448424844, ¥ 4

Question Number : 12 Question Id : 3944846461 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the average of the real numbers a, b, ¢ and d?
TV NOPEN a, b, ¢ DO d © IEN JOed?
) a+b+c=16+d

0 3(b+c+d)=20-3q \Q\

Options : .&Q)
39448424845, ¥ 1 \\Q
39448424846. ¥ 2 Qc?‘

&

39448424847. ¥ 3

39448424848. ¥ 4

Question Number : 13 Question Id : 3944846462 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



What is théRgWpeeyiouspaper.in/
FA0DE M DN 0OeH?
) m'=256

I (m+2)(m-1)=10

Options :

39448424849, ¥ 1
39448424850. *# 2
39448424851. ¥ 3

39448424852, ¥ 4

\

Question Number : 14 Question Id : 3944846463 Quest ‘fsype MCQ Option Shuffling : No

Display Question Number : Yes Is Question Manda o Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What 1s the length of the train? Q\

Ben G067 ,\\Q

I)  Its average speed 15\% kmph
Q) HfED D10 (1065 72 8.0
IT) It takes 15 seconds to cross an electric pole
2,8 DCN5S 02T, @6 15 VENOS e,
Options :
39448424853, % 1
39448424854, % 2

39448424855. ¥ 3

39448424856. # 4

Question Number : 15 Question Id : 3944846464 Question Typeﬁl@ﬂg:gp%&gﬁbtéffﬂpg :No



Display Questipe \Nwsilsee!.Vés Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Is 14 a factor of n + 72

n+7 %0 14 2,8 Oer08 507

I) 1 1s even
n 2,8 00 SO
II)  mi1s divisible by 7

n o 7 A3A0M 2NROD

Options:
39448424857, ¥ 1 . Q\
39448424858. * 2
39448424859. # 3 Q%Q
39448424860. ¥ 4
Q\
Question Number : 16 Question Id : &@6465 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is tion Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Mar

What 1s the area of the path around the circular park?

YT YoY) ). THEY® FENIE) {10 27E) FT'S0 OES?

I)  Circular park has area 9617 sq. meters

YT By STOL0 9611 9. eI

II)  The width of the path 1s lémeters
SEUAR e SRVl

Options: https://previouspaper.in/



3944842h8ps;/fpreviouspaper.in/
39448424862. % 2
39448424863. ¥ 3

39448424864, ¥ 4

Question Number : 17 Question Id : 3944846466 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

How 1s x related to 2 ?

28 13 DAGD D000 O

I) =zisasonofy Q} ‘

y O30E) SR Q’Z&

&
II)  vi1sadaughter of x . 00’
Q\
X 0308) Sreddy Q
Q
A
S
Opti :
ptions \6\'

39448424865. ¥ 1
39448424866. # 2
39448424867. ¥ 3

39448424868. ¥ 4

Question Number : 18 Question Id : 3944846467 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Is triang] B URR/ AMSVIOHSBAREY éftilateral triangle ?

& QOMHSVONDABS (BEHBD eIV (BEHBST?

I[)  The co-ordinates of O and R are (-4. 0) and (4, 0) respectively

QR © AUrATeN ST (-4,0) OO (4,0)

I) Pisapoint on the line y =43 (&Q
Q
y=43 092 P 2.8 0cha) QQ&
Options : . QQC‘)
39448424869. ¥ 1 Q,A\
39448424870, % 2 \Q&
39448424871. ¢ 3 Qc)\
39448424872, % 4 *’\\
A\

Question Number : 19 Question Id : 3944846468 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If v and yhitokApiemiddseaiieofi rectangle, then what is the area of the rectangle?

28 O TG00 TINE), aPCha), FCHEN )N xy o0 ), & OY
DO BTOS0 J0eS?

I)  x>15mnchesand y <10 inches
x>15 @0MFEN HOAM y<10 @0MHFeN
II)  The product of x and y 15 120 sq. inches

X, YO OD0 120 5. e0Mhgren

Options: R \
N

39448424873. % 1 L
)
39448424874, ¥ 2 er
30448424875, % 3 ch:&
30448424876 % 4 ‘\0
.&Q)

Question Number : 20 Question Id€3~§\4846469 Question Type : MCQ Option Shuffling : No
Display Question Number : Yq@uestion Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Ma\r%: 0
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In the fighttrsiéwreitmspaperenof the AABC 1s 8, Does the point (g, b) lie within
the triangle?

& OMHSA0NAAN 980 S ABC STO30 8 35.00%. Do) (ab)
182020 SN SOENOT ?

rs
v

B(20)

) a<2b<4 Q}’

) a=0and0<b<3 GJQ
a=000000<b<3 .

Options : SN
39448424877. # 1 \6\.’&
39448424878. ¥ 2

39448424879. # 3

39448424880. ¥ 4
Sub-Section Number : 2

Sub-Section Id : 394484653

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3944846470 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Problem Sohyitps://previouspaper.in/
ST TR ety

Sequence and Series

e Earen, BEED

EFK : GHO ::

1) BDF : EGL
2) CDH : EFK
3) DEL : KILW

4) LMY : KOY

Options :
39448424881. ¥ 1 D
39448424882, % 2 G:;Q
39448424883. ¥ 3 X

39448424884, % 4 .&Q)

Question Number : 22 Questio@: 3944846471 Question Type : MCQ Option Shuffling : No
Display Question Number :&Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Froblem Solving

DBRPg PO

Sequence and Series

e Eadren, BEAED

https://previouspaper.in/



249 ptﬁ:{/:prewo:uspaper:.ln/

1) 6:64:16
2) 5:100: 15
3) 4:121:14
4y 1:16:11

Options :
39448424885. ¥ 1
39448424886. ¥ 2

39448424887. ¥ 3

39448424888. ¥ 4 . \

\*\Q
Question Number : 23 Question Id : 3944846472 Q Qn Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Iyl@tory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0 Q)A\

*

Problem Solving Q
HS0Rrs TGS \\
Sequence and Series *

e Earen, BEeD \6\"&
C.E. G, ,M,Q,S, W

1)1

2) 1

3) K

4) L
Options:

39448424889. ¥ 1

39448424890. * 2 https://previouspaper.in/



3944842 h8ps;/lgreviouspaper.in/

39448424892, ¥ 4

Question Number : 24 Question Id : 3944846473 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Froblem Solving

DBRPg PO

Sequence and Series

e Eadren, BEAED

APRIL : 64 :: JULY :

AN : 64 1 S - ..Q\

Options :

39448424893, ¥ 1
39448424894, % 2
39448424895, ¢ 3

39448424896. ¥ 4

Question Number : 25 Question Id : 3944846474 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Problem Sohyitps://previouspaper.in/
ST TR ety

Sequence and Series

e Earen, BEED

LXM:12X13:WXU:_
1) 18 X 20
2) 2F-22)
3y 22 X 25

4) 23 X 21

Options : &
39448424897. % 1 QQ)
&
39448424898. # 2 c&
39448424899. ¥ 3 .

39448424900. ¥ 4 ,&Q,

Question Number : 26 Questiq@ 3944846475 Question Type : MCQ Option Shuffling : No
Display Question Number :le Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DB TGS

Sequence and Series

e Earen, BEeD

https://previouspaper.in/



PLANosIIpI&ViouSpapRER/ :
1) HNOJX
2) HYNIC
3) TYNFPC

4) IXMIB

Options :
39448424901, ¥ 1
39448424902, ¥ 2

39448424903. ¥ 3

39448424904. ¥ 4 ‘\Q

Question Number : 27 Question Id : 3944846476 ion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question I\’I& atory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

&
Problem Solving ‘\\Q

HS0RPE S R

Sequence and Series

e dadren, BEAIED \6’\'\'

DAER : KEEAD :: - PINK
1) PKIN
2) KINP
3) KNIP

4) PKNI

Options : https://previouspaper.in/



3944842 hetp5;/fpreviouspaper.in/
39448424906. # 2
39448424907. ¥ 3

39448424908. ¥ 4

Question Number : 28 Question Id : 3944846477 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

HS0RPE S

Sequence and Series

e dadren, BEAIED

Ll 3342 29 :

S
1) 729 ‘?}Q
)
2) 738 -Q
Q\
3) 879 &Q’
N
4) 991 SN
R
Options:

39448424909. ¥ 1
39448424910. ¥ 2
39448424911. # 3

39448424912, ¥ 4

Question Number : 29 Question Id : 3944846478 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Problem Sohyitps://previouspaper.in/
ST TR ety

Sequence and Series

e Earen, BEED

MINOR : 69 :: MAJOR :
L} 57
2} 79
3) 68

4) 71

Options :
39448424913. ¢ 1 %Q
39448424914, % 2 c_',Q

39448424915, % 3 :

39448424916, % 4 .&Q)

Question Number : 30 Questiq@: 3944846479 Question Type : MCQ Option Shuffling : No
Display Question Number :&Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Problem Solving

HS0RPE S

Sequence and Series

e dadren, BEAIED

https://previouspaper.in/



QOMURIP§ipreviousprpeRn/
1) PMLK
2) RSMIJ
3) PNLJ

4) PMNK

Options :

39448424917. ¥ 1
39448424918, # 2
39448424919. ¥ 3

Q

39448424920. ¥ 4

S
Sub-Section Number : 3(&
Sub-Section Id : 0 4484654
Question Shuffling Allowed : ‘\0 Yes
&Q)

Question Number : 31 Question I "&%46480 Question Type : MCQ Option Shuffling : No
Display Question Number : Ye@uestion Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Note @ Inquestions numbered 31 to 35 pick the odd thing out.
K08 - 31 00 35 365 o 1o H0F0O HAochsw.

1) SORE
2) SOTEL
3) NORGAE

4) MEJNIAS

https://previouspaper.in/



Options https://previouspaper.in/
39448424921, % 1
39448424922, # 2
39448424923, ¥ 3

39448424924. ¥ 4

Question Number : 32 Question Id : 3944846481 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Note : Inquestions numbered 31 to 35 pick the odd thing out.
B0 - 31 0 35 385 e 1Df)od H0F0O HBoThsw.

1) Pear %56 \\Q\
2) Apple A9} Q,QQ’
3) Litchi e)es ) 0.0‘)

O

4) Orange

N
&
Options :
39448424925, % 1
39448424926, # 2
39448424927. # 3

39448424928. ¥ 4

Question Number : 33 Question Id : 3944846482 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.
KD - 31 0o 35 38% e 1N o8 HOFOA HAoThSw.

https://previouspaper.in/



https://previouspaper.in/

1) 139

L]
LS
|

2)

(]
S
h
[
hn

4) 721

Options :
39448424929, ¢ 1

39448424930. # 2

39448424931, % 3 ®

39448424932, ¥ 4 QQ;&

Question Number : 34 Question Id : 3944846@esti0n Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Questi andatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0 ‘\\Q

Note : Inquestions numbered 31 to 35 pick thing out.
MM - 31 coodh 35 88 He Lé%@@sjﬁmm@ thoredmn.

Options:
39448424933, ¥ 1

39448424934, % 2
https://previouspaper.in/



3944842 hetps;/fgreviouspaper.in/

39448424936. ¥ 4

Question Number : 35 Question Id : 3944846484 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Note : In guestions numbered 31 to 35 pick the odd thing out.
KD - 31 008 35 365 fo |Hfiod HOFOIO HAoTISW.

42,49, 60, 73, 88, 109

Options : )’\\Qg
39448424937, % 1 \Q
39448424938, ¥ 2

39448424939, ¥ 3

39448424940. ¥ 4

Sub-Section Number : 4
Sub-Section Id : 394484655

Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 3944846485 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
https://previouspaper.in/



Note : Fathsifbrepiotispaiyenif to 45 follows a definite pattern, observe the same and

fill 1n the blanks with suitable ones.

oS :36 DO 45 365 A0 (@90 28 DSBS AADIFN)
PEOTION. 8 AADST) HH0D HOAHMN NTFFTTOS PO
JO0W0A.

2 1 &
6695 B0 83857
3 i
1) 99%
8
3 i
2) 882

3) 90

4) 8?§ \Q\

Options : Q;Q

39448424941, ¥ 1

A\
39448424942, % 2 ,&Q,A

39448424943, % 3 \\Q

39448424944, ¥ 4 X

K
A\

Question Number : 37 Question Id : 3944846486 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern, observe the same and

fill in the blanks with suitable ones.

oS :36 OB 45 305 A0 (D90 28 PDISDY  ADITFN)
PEVTION. 8 AADSTR) HH0D HOAHMH NTFPFTTOS PO
JO0I0A.

https://previouspaper.in/



16. 338 /Ipreyioygraperin/
1) 521
2) 613
3) 523

4) 694

Options :

39448424945, ¥ 1
39448424946, ® 2
39448424947. ¥ 3

39448424948. ¥ 4 . \Q

Question Number : 38 Question Id : 3944846487 Q@én Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question M@h‘(ory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0 Q)A\

Note : Each of the questions from 36 to 43 fol&\@efmite pattern, observe the same and

fill in the blanks with suitable ones, é.

HODE 36 0B 45 m\q%s.%w 28 DOISHS  AADSTA
FEOTION. & AADSTAY WeIA0D HBOHD NSrTTes Yo
JOOI0R,

102,22 51,50, - 12

Options : https://previouspaper.in/



3944842 hetps;/fgreviouspaper.in/
39448424950. # 2
39448424951, ¥ 3

39448424952, ¥ 4

Question Number : 39 Question Id : 3944846488 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. observe the same and

fill in the blanks with suitable ones.

HoRE:36 OB 45 0% o (D9)1en 28 POIBVY  AADLIFR)
FEOTION. 8 AADSTA) HHR0D HBAHD NFTTOS AK?@@
JrO0TI0R. *Q

(5.7, 6): (9. 11, 10); (13, 15. 14); (17, 19, 18): S
N
1) (20,21,22) R
Q¥
2) (21.20,22) R\
.&Q)

3) (21,23, 22) \\Q
%0
4) (22.26.25) &&Q
AN

Options:

39448424953, # 1
39448424954, ¥ 2
39448424955, ¥ 3

39448424956. ¥ 4

Question Number : 40 Question Id : 3944846489 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



Note : Fathsifbrepiotispaiyenif to 45 follows a definite pattern, observe the same and

fill 1n the blanks with suitable ones.

oS :36 DO 45 365 A0 (@90 28 DSBS AADIFN)
PEOTION. 8 AADST) HH0D HOAHMN NTFFTTOS PO
JO0W0A.

150150, 11550, 1050, 150,
1) 110

2) 90

Options: \“\’Q\
39448424957, % 1 QQ)
39448424958, # 2 Q(b'
&
39448424959, # 3 00
N
39448424960. ¥ 4 A
&

Question Number : 41 Questio : §44846490 Question Type : MCQ Option Shuffling : No
Display Question Number \Qs\h Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern, observe the same and

fill 1 the blanks with suitable ones.

HoE:36 OB 45 0N o (DD 28 PVIBSY  AADLSFR)
TFEVTION. 8 AADST) HHA0D HOAHH NTFTTOS PO
JO0TI0A.

https://previouspaper.in/



7. 19 hgs-Hprpviouspaperyng; 5 1

1) 2016
2) 1951
3) 2161

4) 2751

Options:

39448424961. ¥ 1

Q

39448424962, % 2 R
<

39448424963, ¥ 3 ,69

39448424964, % 4 QC::;Q

.\Q
Question Number : 42 Question Id : 33 491 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is %I‘ ion Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Mark@

Note : Each of the questions ﬁ'om\ﬁ%m 45 follows a definite pattern, observe the same and

fill i the blanks with suitable ones.

HoRE:36 OB 45 0N o (DN 28 PDIBIN  AADIFR)
TFEOTION. 8 AADSTFR) HHR0D HBAHD NTFTTOS PO
JO0I0E,

https://previouspaper.in/



BAT. https://previopggaper.in/ )

1) FWX, NOF
2) EVX, MOE
3) FVX, NOE

4) EWY, MOE

Options:

39448424965. ¥ 1

39448424966. ¥ 2 \’Q\
39448424967. % 3 QQ}
39448424968, * 4 &Q(b'

Question Number : 43 Question Id : 3944@ Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Q‘L\éﬁ n Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : %‘

Note : Each of the questions from %DHDWS a definite pattern, observe the same and

fill 1 the blanks with suitable ones.

HoE:36 OB 45 0N o (DD 28 PVIBSY  AADLSFR)
TFEVTION. 8 AADST) HHA0D HOAHH NTFTTOS PO
JO0TI0A.

196. 16, 144. 36. 100,
1) 64
2) 72
3) 96

4) 112

https://previouspaper.in/



Options https://previouspaper.in/
39448424969. ¢ 1
39448424970. # 2
39448424971, # 3

39448424972. ¥ 4

Question Number : 44 Question Id : 3944846493 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern, observe the same and

fill 1n the blanks with suitable ones.

HodE:36 OB 45 0N o (9D 28 PAISY A Q)
DTN, &8 A0V Mo BAhD R}MW@W DI

JO0W0A.
6, 24, 120, 336, G&f&

1) 1320 .
2) 944

3) 720 &
| K
4) 552 AN

h

Options:

39448424973. ¥ 1
39448424974, ¥ 2
39448424975. ¥ 3

39448424976. ¥ 4

Question Number : 45 Question Id : 3944846494 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
https://previouspaper.in/



Correct MpkEpreWrsngadarks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. observe the same and

fill i the blanks with suitable ones.

oS :36 DOR 45 6% Ao (A0 28 PDISDY  A0DITR)
FEVTION. & AADSTYY HDHA0D HBAHD dSrTTes Yo
JOOI0R,

6.24,.60,
1) 80
2) 100
3) 120

4) 140

Options : (&
39448424977. ¥ 1 C_)Q
S

39448424978. ¥ 2 Q\
39448424979. ¥ 3 \QJ

39448424980. # 4 %o\\Q
Sub-Section Number : a’\\.Q 5

Sub-Section Id : 394484656

Question Shuffling Allowed : Yes

Question Id : 3944846495 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (46 to 48)

(b) Data Analysis (Marks : 10)
ST0F BN (Srten : 10)

https://previouspaper.in/



The folloptips iapleindirsirepe fiax paid by 5 companies A, B, C, D, E in the months

November 2019 to March 2020 (in thousands of rupees). Based on the information

given in the table answer the questions from 46 to 48.

%1800 HES5S’ A,B.C,D,E & 5 500060 d025, 2019 H0B &6
2020 850 88 D) (B3O EFFOHOS) 93 LABIE.
& DTG0 STTEOT 46 AHOG 48 HBF 110 (%) OF AIPTR e},

Months
November | December | January | February Nl'arch\
I5008 | G02T | 2550 | HRNO ;@
(‘)J L 2
174 186 147 1583 D™ 193
B 89 76 92 | A 1
C 201 M2 | 219 NP8 | 225
D 65 71 BN 83 9
E 39 42 \Q\ 52 61
Sub questions ,’\\'Q

Question Number : 46 Question Id : 3944846496 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



For whidhtgssnparavibadpaperdnn March has highest percentage increase over the
month of November

JS0DHE FO 19 2 E0 570 6 88305 2300265 965208 DEHES TS0
DAY
1)B

Options :
39448424981, ¥ 1 . .Q\

39448424982, % 2 QQ} .

39448424983. ¥ 3

QO
30448424984, ¥ 4 0‘&
.\Q

Question Number : 47 Question Id : 35 497 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is %‘ ion Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Mark@

https://previouspaper.in/



In whichHRRPRVPHERAFT 18Corded highest increase in the tax paid over the
previous month?

2 FOS F0A D , TA§ SHONR), TOS 836 980, 57 eoebsOF
NA) DA I TG ?

1) December
2) January

3) February

4) March \
Options : &‘&Q
Q
W
39448424985, % 1 %Q
39448424986. * 2 0C)Q

39448424987. ¥ 3

39448424988. ¥ 4

Q
N

Question Number : 48 Questio@944846498 Question Type : MCQ Option Shuffling : No
Display Question Number :Q s Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



The perchitpss/fravicaspabetanpaid by company A m January over the month of

November, corrected to two decimal places 1s

35028 TOE FOIRHED, 2530 S L0 A L33 H)S B
F5230, DORAT0F T MO0 )R

Options : COQ

39448424989, ¥ 1 .
39448424990. % 2 ,&Q,
39448424991, ¥ 3 \\Q
30448424992, % 4 )

R
Sub-Section Number : \Q 6
Sub-Section Id : 394484657

Question Shuffling Allowed : Yes

Question Id : 3944846499 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (49 to 53)

(b) Data Analysis (Marks : 10)
S04 D3Ne (SrEe0 : 10)

https://previouspaper.in/



The follosips Pis-éhati e ie data on the number of students graduating from
different branches of engineering in an year from a particular state. Based on this data
answer the questions from 49 to 53.

28 OlR0S 28 N05S)50S NG R0BNO0K  JermresS
D& ZDOYENND) DT EHO HOP T HOVOHONN Jdreroe) (§od

D B0 Ir)E0D. & JSrerd0 SOOI 49 HOB 53 SO e
1995050 DSTTT O],

A : Computers Engg 5053560 20200
B: Mechanical Engg FAEO 200001

C : Electronics Engg DO TS ) B02O0N

D : Communicaton Engg L ABAR HOBAOOR
E : Civil Engg O 2023O0N

Sub questions

Question Number : 49 Question Id : 3944846500 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



If the totaitpsulibeeviduspdass.iofaduating 15 27.000 then the number of students

graduating from Civil Engineering is

INB0 D8 FHNOYND) TS HOPS 27000 0NN, VIO
Q0230000 & HEEIOHED) TN HOPS
1) 2800

2) 2500
3) 1950

4) 1800

Options:
S

39448424993, ¥ 1 A\

N

39448424995. ¥ 3 % .

39448424994, % 2
39448424996, ¥ 4 \&\Q

Question Number : 50 Question Id : 3944846501 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



The totalhitpsbiépreviondmapetio Computer Engmeering and Civil Engineering 1s
equal to the number of graduates from which of the following two branches of
Engineering?

2 DO 202000 DaFTPS” DO DT BeN H0P; BT

50557506 2029601, DS 208600 ©F Do JZFTS FBo
HELCHOeR D) T sEN DS F DedPRI0?

1) Electronics and Communications

DOFRS) DO EPEABTAN)

2) Electronics and Civil . \.Q\
DOIFIE) HOO DS QQ,\ ‘

3) Computer and Communications N

e S

5007100 DO EATATAS) . Q\\f
X\

4) Communication and Civil &QJ
$rsREAS) HOAD DS \\Q
Options: &\Q

39448424997. ¢ 1
39448424998. # 2
39448424999. ¥ 3

39448425000. ¥ 4

Question Number : 51 Question Id : 3944846502 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



If the nubttes:#Prdvioushaner-fdm all the branches is 21000 then the difference
between the maximum number of graduates and the mmmum number of graduates m

all the branches is

) JFTS EO 21000 OO HQLDOWS @) DZPren O
¢3S0 HEABCHOYHD) AT DO HODF BV HOC 9¢h1e) 0T
DOV ;e Hos B e 33¢50?

1) 6320

2) 5600

Q
3) 4850 N
1) 4480 o

Options: A\
39448425001. ¥ 1 \QJ

39448425002. ¥ 2 .\\Q

*

K
N\

39448425003. # 3

39448425004. ¥ 4

Question Number : 52 Question Id : 3944846503 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



What is tHEPSHRRRIR WTRARERARcal Engineers graduating in the year ?

&3 03 )50 DPAES R0BAOOH &S HECHOHHD) AT ;DO

T50?

Options: R \
N

39448425005. ¥ 1 Q'}
39448425006. % 2 @Q
39448425007. ¥ 3 S’.)Q
39448425008. ¥ 4 A‘\Q

.&Q)

Question Number : 53 Question Id€3~§\4846504 Question Type : MCQ Option Shuffling : No
Display Question Number : Yq@uestion Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Ma\r%: 0

https://previouspaper.in/



What 15 hies Ydprevidugrapendoating students from Mechanical to Electronics

Engineering?

DTS 80BA00H & HLBNIOYMS) T DOF, JOTAE) &
HOBCDOD) TSRO 1) DN D0ed?

Options : Q} ¢
39448425009. # 1 ‘bQ
39448425010. # 2 &Q
39448425011, % 3 4\0
39448425012. ¥ 4
Sub-Section Number : &

Sub-Section Id : ”\\',Q 394484658

Question Shuffling Allowed : Yes

Question Id : 3944846505 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (54 to 55)

(b) Data Analysis (Marks : 10)
S04 D3Ne (SrEe0 : 10)

https://previouspaper.in/



In a collegripbsisnaiiolifpedsnts. the number of students who read news papers

A, B, C are given in the Venn diagram below. Using it answer questions 34 and 33.

1200 500 AT DO SO 28 TS A, B, C 03 T HSEOD
DO A5 HoPS D & 1300 IR V(N APV,

& GTOTR) GOrNoR 54 HOGN 55 (DF)OR Nedriradanen
HO0THN.

Sub questions

Question Number : 54 Question Id : 3944846506 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



The numbgijaf sprianéusbagerdrsither paper B or paper C. but do not read paper A
1S
S BB € Ie)edr. (8 A & Il A;He 0] 2

1) 760

2) 670

Options : \
39448425013, % 1 &QQ
39448425014, % 2 QQ)

o

R
39448425016. * 4 . 00
N
&

Question Number : 55 Question Id : 8\ 46507 Question Type : MCQ Option Shuffling : No

39448425015. ¥ 3

Display Question Number : Yes I estion Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Ma«@&)

The number of students who do not read any of these three papers A. B, C 1

SR (B3N ABLC O BAJ ErE B9 s HoPs

Options: _ _
https://previouspaper.in/



3944842 kttp3;/fpreviouspaper.in/
39448425018. ¥ 2
39448425019. ¥ 3

39448425020. # 4

Sub-Section Number : 8
Sub-Section Id : 394484659
Question Shuffling Allowed : Yes

Question Id : 3944846508 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (56 to 60)

(¢) Coding and Decoding Problems (Marks: @\
SRR, BFAON 38560 (m@&%}g)

https://previouspaper.in/



A code déstgrd poedetspdpteinin English alphabet by replacing the letters with
certain symbols and natural numbers according to the following rules:

30 HPSPOSA §Q) ETOMN, §R) Hhen HO0MH ) oS §od
AohSsred Sk §6 DAHadI.

1) If only two vowels or only two consonants come together in a word, then
they are replaced by the symbols corresponding to their successors letters in
the code:

2,8 5605 3500 Bokh et B 3500 Bok sFeVen ST
HOINVB T e Shared e0f 6 §6 & §& Toird

\

i) If the first and last letters are vowels in a word. then they 11\}&1changed
with the corresponding symbols %Q
R

2,8 D0’ e, DD efTren (1 @@) & a¢38 S000H0DD
HEON 360 S50, §G ﬁc&“ﬁﬂﬁ) A

\\Q
Based on this answer the questions 1}@.& 56 to 60

& ArTr00 &G0 56 ;0 60555 fe) (0408 drrrddn;

Letter | A C D E G L M 0 R 5 T Y
Code |1 * = 2 % £ @ 3 & 5 ? +

=l

Sub questions

Question Number : 56 Question Id : 3944846509 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



What fleprdeolepdbe word OMEGA ?
OMEGA %0 §8 D0 Des?

1) 1@2%3

2) 3@2%!1

3) 1%2@3

4) 3#%£1

Options :
39448425021. ¥ 1
39448425022, # 2
39448425023. ¥ 3 ‘\‘Q\
39448425024, ¥ 4 QQ}‘
N
Question Number : 57 Question Id : 3944846‘516&%)Ssﬁon Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Questio@x}ndatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0 \'Q&
What is the code for the word P%Ex

Q3
PACE % 6 930 D0
1) &S$*1
2) &1%2

3) +Ha#*

1) @21£

Options:
39448425025, ¥ 1
39448425026. ¥ 2

39448425027. ¥ 3
https://previouspaper.in/



3944842 kttps;/fpraviouspaper.in/

Question Number : 58 Question Id : 3944846511 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the code for the word CARRY ?

CARRY HrQ8 §8 D0 dade3?
1) $2%*9
2) #1££9
3) *1$$+

4) 21##+

Options: ‘
39448425029. # 1 ,&Q,

39448425030. # 2 ‘\\Q

39448425031. ¥ 3

*

K
N\

39448425032, ¥ 4

Question Number : 59 Question Id : 3944846512 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



What 1btths/(ppeléofispaherimbrd DELTA ?
HDCS0 DELTA 30 §& 0)adé3?

1) #%£12

2) 28#21

3) #2@+1

4) #2£71

Options :

39448425033. ¥ 1

39448425034, # 2 \

39448425035. ¢ 3 &®

39448425036. ¥ 4 (bQQJ

Question Number : 60 Question Id : 3944846 estion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Questi andatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0 ‘\\Q

What 1s the code for the WQQQ(?;TR_EET‘?
"\
STREET @ D8 % N2
1) $27%%"?
2) $7%2%
3) $#+1+%

4) $*L&&?

Options :
39448425037. ¥ 1

39448425038. # 2 https://previouspaper.in/



3944842 kttps;/fpraviouspaper.in/

39448425040. # 4

Sub-Section Number : 9
Sub-Section Id : 394484660
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3944846514 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
(¢) Coding and Decoding Problems (Marks: 10)
& ., Vi o
gﬂfﬁ(”}ﬁ égéﬂﬁ r-:}c:)Jr\}-f’_lj (&’15“53&@) 10)

In a certamn code language. if the word RECTANGLE is coded as TGE{(&G then

how 1s the word RHOMBUS 1s coded @Q

R

2558 §& ¢ RECTANGLE & TGEVCPING mi WAle VA
93¢, RHOMBUS &7 )¢50 G308}, s\@%’
\Q
1) TIOQDWV
2) TIQNDWU
3) TIQODWU

4) TIQOEWU

Options:

39448425041, ¥ 1
39448425042. # 2
39448425043. ¥ 3

39448425044. ¥ 4

https://previouspaper.in/



Questiohtpaibyerine2@pestion Id : 3944846515 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
(¢) Coding aufl Decoding Problems (Marks: 10)
gﬂf@(:)ﬁ, é%{%()ﬁ F:}c:')jr\}LP_lj (E;’ljnd)gren : 10)

If SPIKE 1s coded as TOJID. then the code for CROWD 1s

SPIKE & TOJID ™ §& D0OH2G&0) )% CROWD XBws), §&
1) DQPVE
2) DSPXE

3) BSNVC . \Q\

4) BQOUD ‘Z&

Options : A‘\OQ
39448425045, ¥ 1 &Q)
39448425046. # 2 ‘\\Q
39448425047. # 3

39448425048. # 4

K
N\

Question Number : 63 Question Id : 3944846516 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(c) Coding and Decoding Problems (Marks: 10)
SA0R, BEBOR HDdsen (0300 : 10)

https://previouspaper.in/



In a certanttpedephevicudpdper it 1s coded as UFSNIT and word PARENT 1s coded

as FOUQBS. then in the same code language, the word SQUARE 1is coded as

2558 §6 S MISTER - 9% @), UFSNIT %, PARENT &8 HIFR)
FOUQBS e §6 T0HadS)h, o8 §6 & SQUARE @ S0 &
1800 Ao §& DoHAG0H.

1) TRVBSF

2) BSTERV

3) BSFTRV \Q\

4) TRBVSF ‘2&

Options : .\00
39448425049, ¥ 1 &Q)A

39448425050. * 2 \\Q

39448425051, ¢ 3 X

K
N\

39448425052, # 4

Question Number : 64 Question Id : 3944846517 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(¢) Coding and Decoding Problems (Marks: 10)
§&0R, ASAOR deedzen (5C0 00 : 10)

https://previouspaper.in/



If SAGE ppadaphasiSibupkM AL SE is coded as NUATI then ROSE 1s coded as

SAGE 0 TEHI TP, MOUSE &) NUATI TP §& D0H230:)¢, ROSE
@90 900 8 (808 NGO §G DoHAG0A.

1) SUTI
2) SUTO
3) SUTU

4) SUTA

Options : C_)Q

39448425053, ¥ 1 Q
O
39448425054, # 2 A
&

39448425055, % 3 <S$?

39448425056, * 4 Se

K
N\

Question Number : 65 Question Id : 3944846518 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(¢) Coding and Decoding Problems (Marks: 10)
§&0f, B580h QeI eV (cﬁf”d)&@ﬁ :10)

https://previouspaper.in/



If DECKhigsedastavidVispepanihMUSIC is coded as NFHRX then DART is coded

ds

DECK & WVXP T 00 MUSIC & NFHRX M §6
DOHAAJYC, DART & (808 Ao §& TN,

1) WZIH
2) WZIG
3) WZIK

4) YZIG

Options : (&

S
39448425057 % 1 ch:)Q
39448425058, ¢ 2 .\Q
39448425059, % 3 N

39448425060, % 4 \\Q
Sub-Section Number : ,&%‘ 10
Sub-Section Id : ‘& 394484661

Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 3944846519 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B0, NeDONO, 05 HNDLEN (S°S0eM : 10)
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21-07-199psdiovexdausianefindt would have been the day of the week

on 21-07-1947?

21-07-1999, 2080 TN, BONS, 21-07-1947 &FO TS0 &) T2
ONEGOT ?

1) Monday P3N0

2) Sunday 885030
3) Tuesday el ieIEele . ~Q\
N
4) Saturday 3000 Q}
CJQ(bQ
Options : A‘\Qg
39448425061. ¥ 1 &QJ
39448425062. * 2 .\\Q
%0
39448425063. ¥ 3
SR

39448425064. # 4 \Q

Question Number : 67 Question Id : 3944846520 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
(d) Date, Time & Arrangement Problems (Marks : 10)
B0, NeDONO, 05 HNDLEN (S°S0eM : 10)
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At what thapdsIpraticugpapist Jpm will the two hands of a clock be at 150° angle

to each other ?

2,8 HBOTE0ES 832 H0. HOOM 0.3 0. NS & HHEHOS Do
0OV 28 TFATEE 1500 5806 B0EraN ?

1) 36%111i11utes past2pm  2006)® 36% Qoo eV

2) 38%1}1i11ures past2pm  2(0&)® 3835 ool
1

2
3) 37%111i11utes past 2 pm 2060 3"? Dol )

; Q
4) 38%111i11utes past2pm  2(100© e Qoo ®

S
Options: Q(bQ
39448425065. ¥ 1 N 0&
39448425066. * 2 Q\
' Q
39448425067. # 3 \\'Q&
39448425068. ¥ 4 %“

K
N\

Question Number : 68 Question Id : 3944846521 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
(d) Date, Time & Arrangement Problems (Marks : 10)

B0, DDON0, 950086 DNIFEN (330202 : 10)
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At 340, thapewmphanivushseniante hand of a clock form an angle of

2,8 HBAIPE0ES &CaNO0 3 (106 40 DSNPE F, K0S SNV SHOOH
QAL NN DS e S0

Options : C)Q

39448425069, ¥ 1 00
39448425070, # 2 Q\

39448425071. ¥ 3 \\Q

39448425072. # 4 %‘
&
Question Number : 69 Question Id : 3944846522 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
(d) Date, Time & Arrangement Problems (Marks : 10)

B0, NeDONO, 05 HNDLEN (S°S0eM : 10)
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A is mothgppE B Biicudpgldeiaf C. D is father of C. How is D related to A?

BORNE), e9s) A, € TwE) Sreéd B, € BwE) 7°d) D e@ond, A SD o
DO H0OTR) 86 &0H?

1) Grand father a°ch

2) Father-in-law VAV

3) Grand mother €9 Ja}
4) Daughter-in-law gcien

Options : ’\’Q\

39448425073, % 1 <
)
30448425074, ¢ 2 %Q
39448425075. ¥ 3 0‘&
30448425076. % 4 ‘\0
.&Q)

Question Number : 70 Question Id(%&4846523 Question Type : MCQ Option Shuffling : No
Display Question Number : Ye@uestion Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Ma\r%: 0
(d) Date, Time & Arrangement Problems (Marks : 10)

B, NDON0, 50056 DN FEN (300 : 10)
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Kabir lefifsp$atnpsciauRaaderaird. 30 am. He travelled at the speed of 60 kmph for
3 hours 15 minutes. After that he reduced the speed to 20 kmph. If the distance

between the two cities 1s 205 km at what time did Kabir arrived Patna?

EDE &. 8. 3050 T°0D) V0D aFeR) 50 AOHENTTE. @ehch 3508 15
DTN H0E% 60 8.4, D0 (DOITEIOT. €3 HGTeh, (k) e
TR 10638020 8.00.50 SOTe. & DO Siiore) ¢h5 0 205 8.0,
0N, 5D 2PEr) DHKIN) D00 08 ?

1) 12.15 pm

2) 1245 pm \K\\
_ S
3) 1.15pm Q&
4) 1.30 pm . 0&
Q\
.&Q)

Options : .\\Q
39448425077, ¥ 1 \,&c’

39448425078. # 2
39448425079. # 3

39448425080. ¥ 4

Question Number : 71 Question Id : 3944846524 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
(d) Date, Time & Arrangement Problems (Marks : 10)

B, VN0, 890050 D) FeN (S0 : 10)
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A person peaisyhoiavidniepaperain/0. 10 am which was 30 minutes before scheduled
time, which in fact was already delayed by 35 minutes. Then the time at which the

mterviews started 1s

D03 D:00H0 55 30 AWEFOSDOLT ¢.10.10 Koo 28 58
FRITD. § 6 STPE D08 AT dHOHO ET7) 35 Aaaren
BSOSO [@PG0Z5D0NND. @) oTDE DO, (PGB DDANO

1) 9.15 am &915

2) 9.35am ©.9.35

3) 9.55 am & 055 \\Q\

% L
4) 10.15 am &.10.15 %Q
&
W
&

Options : Q\\"Q%‘
39448425081, * 1 Q

39448425082, # 2
39448425083. # 3

39448425084. ¥ 4

Question Number : 72 Question Id : 3944846525 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
(d) Date, Time & Arrangement Problems (Marks : 10)

B, DDON0, 95005 DNDFEN (S0 : 10)
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Four bellbttpsB/pregidospapesgnlarly at mtervals of 25 minutes, 35 minutes, 40
minutes and 80 minutes respectively. If all the bells rang together at 10 am on Sunday

when will they ring again simultaneously?

) (10€)eN A, B. C, 2DOAIN DEW DM 25 QadaleN, 35 QadaleN, 40
AT SO 80 AVaFO @OSTNS (SO (FrhEow.

SOTV0 &. 10 H0OHOK &) 2300 (FPNS, HP) @50) &3 0

BRI, \
N
Q)\ .
1) Monday &Fee00 Q(bg
O
2) Tuesday DONFTC0 A‘\O
.&Q)
3) Wednesday 2030 ,\\Q

i
4) Thursday OO0 \6{.\’

Options :

39448425085. # 1
39448425086. ¥ 2
39448425087. ¥ 3

39448425088. # 4

Question Number : 73 Question Id : 3944846526 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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(d) Datebtisnp&vibvspagement Problems (Marks : 10)
B, DDNAN0, 95005 DoNDFEN (S0 : 10)

For the integers m, n define

man=m+2n, mpfn=2m+n, and myn =m?+ n? then

((=5)a6)B((-2)y(-3)) =

J'T0OTeNMN O man=m+2n, mPn=2m+n,
00050 myn =m2 +n P BV, @)D
((-5)a6)B((~2)y(-3)) =

1) 33 QQ} .
2) 30 %Q(b"
Q¥
3) 27 Q\
.(Z)
4) 24 \\Q
%0
SR
Options:

39448425089. ¥ 1
39448425090. # 2
39448425091. ¥ 3

39448425092, ¥ 4

Question Number : 74 Question Id : 3944846527 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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(d) Datebtisnp&vibvspagement Problems (Marks : 10)
B, DDNAN0, 95005 DoNDFEN (S0 : 10)

Fora,b,e N and b > 1 defme *bya+b =a (1 —|—%+%+ )
Then (2*3)*2 =

a,b,eN 0D >1% * Darb=a (1+5+5+)

e 53(‘.’)&5{)5@ @@C&j (2*3)%2 =

Options : %’\\Q
39448425093. ¥ 1 a’\\Q
AN

39448425094, # 2
39448425095. ¥ 3

39448425096. # 4

Question Number : 75 Question Id : 3944846528 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
(d) Date, Time & Arrangement Problems (Marks : 10)

B0, NeDONO, @05 HDND5EN (3 S0.eM : 10)
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If o @ bhttpgy/prviouspapanit/ b = = then (2 ® 5)@9 =

a®b=(a-b-1)% OO adb =2 @S, @) (20 5)HI =

Options: (&
39448425097. ¥ 1 C_)Q
S

39448425098. # 2 A\
39448425099. # 3 &Q)

39448425100. ¥ 4 .\\Q
R
I\«

Mathematical Ability

Section Id : 39448495
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 75

Enable Mark as Answered Mark for Review and
Yes

Clear Response : https://previouspaper.in/



Sub-SectiopNyprh&ruspaper.in/ 1

Sub-Section Id : 394484662

Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 3944846529 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
@08e3ed ronQses

If iE = G)M_T,thenx =
Q

F 2x-7 Q}
iE = (E) 0N, x = Q"z&
Ny
1) - N

2) —
3) 5

42
4) 7

Options :

39448425101, ¥ 1
39448425102, # 2
39448425103. ¥ 3

39448425104, ¥ 4

Question Number : 77 Question Id : 3944846530 Question Type : MCQ Option Shuffling : No
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Display Questipe \Nwsilsee!.Vés Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e05teded arnQsed

4_[xz+(g_xiz)‘l} _

3x*
12x%—3x2+1

1)

3x*t

12x241

2)

3x2

12x%4+3x+1 ‘®

4) 12x4ix3x2—1 GDQ%Q

3)

Options: %’\\Q
39448425105. ¥ 1 ”\\Q
AN

39448425106, # 2
39448425107. # 3

39448425108. # 4

Question Number : 78 Question Id : 3944846531 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
@08e3ed ronQses
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28 litre16Pg:finkenieuspanas imilk and water i the ratio of 3 : 4. If 8 litres of
pure milk 15 added to this mixture, then the ratio of water to milk in the
resulting mixture 1s

28 O60 2.8 MFD0ES 3 1 4 AABS ren, A EOR Sy 0.

MFIFAE § OGS T EODB, @)k & DFH0S A, Ty
A8

1) 4:7

2) 4:5

o N
; o)

Options : .&Q)

39448425109, % 1 \\Q
%o

39448425110, ¥ 2 &&Q

39448425111. # 3

39448425112, # 4

Question Number : 79 Question Id : 3944846532 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e050eded P sed
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At a certitppipretiousRepELEnts to ladies was 4 : 3. After some time 6 men
and 4 women left the party and the ratio of men to women was 21 : 16. How

many people were present in the party initially?

2,870 BTG, ST DA 4: 3. FOSNE SGares 6 HG
QATE, 4% e3¢ O OO IET 9k & 3OS WAOD
AT, 0 S 21 ¢ 16 oD, @ & >
AT ([r502306T) A0S08 oF28 &0&O?

Q

1) 82 QQ‘)& :
(o
2) 84 &Q
3) 80 4’\0
<

\\

1) 86 \\Q
KL
Options : \

39448425113, # 1
39448425114, ¥ 2
39448425115, # 3

39448425116. ¥ 4

Question Number : 80 Question Id : 3944846533 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e050edes aransed
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The smATHRS-{RARYS UsRaRe" In/

x=37-61,y=6-v34,z2=5-23 andw = 2y3-+10 is

x=37-V61,y=6-+34,z=5-+23 000w =2y3-+10

O £ oS

Options :
39448425117, % 1 %.
39448425118, % 2 )’\\.'Q
39448425119, # 3 \Q

39448425120. ¥ 4

Question Number : 81 Question Id : 3944846534 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e050edes aransed
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a xh&pi:// tuspaper.in/

(-) = (=) ,then the value of x 15
b a

(E)H . (E)H G0N, ¥ DEN

a

N
Options: QQ)
QO
39448425121, % 1 ch
39448425122, % 2 .

39448425123. ¥ 3 ,&Q,

39448425124. ¥ 4 \\Q
%0
R

Question Number : 82 Question Id : 3944846535 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e050edes aransed
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The leadlPRH{RSYUSRAR 5 f%ﬂ"b ) 1s divisible by 88 are

88 T (7a3420) 9RO B0 PAODDTENT a, b © Ea)

2)CNEN)

1) a =6:b=4
2) a=4:b=6
3) a=6.b=6

4) a=4:b=4

Options : Q
39448425125, % 1 Q(b'
S

39448425126, % 2 . 00’
Q\
39448425127, % 3 S
\

39448425128. ¥ 4 .\\Q

Question Number : 83 Ques?% Id : 3944846536 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e050edes aransed
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When a Mbez rﬁvcii‘fﬁ%’%%ef 45 it leaves a remainder 48. What will be the
remainder 1if the same number 1s divided by 297

28 D0 783 T 2PAOWT t)) 320 48 HOC) ©T oW 298
2T ST 320 0eh?

Options : A\
39448425129, % 1 \\Q\Q)
39448425130, # 2 %
39448425131, ¢ 3 &\Q

AN\

39448425132. ¥ 4

Question Number : 84 Question Id : 3944846537 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e050edes aransed
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If the GOUPST/R¥6IBUPRRAART Y S is 29 and their sum is 174, then their

difference 1s

BO B ST (.A7.27. 29 00050 7¢3 00 174 9SS,
T3 B30

4) 145 . Q\

Options : (bQ
39448425133, # 1 0&
QO

39448425134. ¥ 2 Q\

39448425135, # 3

39448425136. # 4 ‘\\Q

Question Number : 85 Question Id : 3944846538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability

@08e3ed ronQses
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The LCMtp$ hareviobsparelinmmes their HCF and the sum of their LCM
and HCF 15 2520, If the smaller of those numbers 15 480. the ratio between

the smaller and the bigger number 1s

Bk 05 S0, a3 .27 80 20 BEW DO ared E.ar..,
farer. © 30 2520, TS D) Nows 480 ©ONS
£309) 08580, A0 EL (96 e )€

)2:3
2)3:4
3)4:5 Q\
4)5:6 QQ}

Options: ‘\QQ
39448425137, % 1 Q)A

N
39448425138, # 2 \\Q
39448425139, ¢ 3 ‘

D
39448425140. * 4 \Q

Question Number : 86 Question Id : 3944846539 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e050edes aransed
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https://greviouspaper.in/
A person spent ~ of his salary on house rent and - of the remaining on food

and cloths. Rest he saved. If the amount he spent on food and cloths s

Rs.16500, then the amount he saved is (in rupees)

28 958 65 808 2 Hodh w03 T ) Towm

DAOSTAS 2 Soeh 5500 BN DRV P&H) T

DO TAR P DD, BFG0 DO NVO DN
D)) 16500 EraroD B 9 SC0e) BN B0 (Er.06)

Q&Q}
1) 11000
~
2) 16500 D
&
3) 13500 \\Q
%0
4) 5500 Q
| N\
Options:

39448425141, ¢ 1
39448425142, # 2
39448425143, ¥ 3

39448425144. ¥ 4

Question Number : 87 Question Id : 3944846540 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e050edes aransed
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If we pufm.sg/,@fey I desc enrdi?llg order, then the difference between first and

second number is

2,222 ©O% @IBire 006 o0 $5t5) Fncses SHBck

BOCh) DO 2330
1) 3_15
2) 1—12
gy \
30 .®
4) — S
) T %Q
R

Options : %
R
39448425145, % 1 Q
39448425146, % 2

39448425147, ¥ 3

39448425148. ¥ 4

Question Number : 88 Question Id : 3944846541 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e050edes aransed
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What is TR SRRV BRARE L e largest and smallest of the following
rational numbers ?

806 B 0RO {8, S HOWLO K0 JO?

: Q

728

32 R
?) 728 %Q

319 ¢

3) = Q\

4 — ~\\Q

1456

Options :

39448425149, ¥ 1
39448425150. ¥ 2
39448425151, # 3

39448425152, ¥ 4

Question Number : 89 Question Id : 3944846542 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Arithmeitiged: Adpéliiguspaper.in/
e050edes aransed

If p=32.q=V3.1= "5 and s = V7. then which one of the following
ordering 1s true?
p =32 q=33.1= 15 000 s =7 @, 1806 TS 2 80

V30?7

D p>r>s

2)qg>r>s ‘\‘Q\

3) g<r<p %Q
fr<s<p 00’

Options :

39448425153, ¥ 1
39448425154, ¢ 2
39448425155, # 3

39448425156. ¥ 4

Question Number : 90 Question Id : 3944846543 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
@08e3ed rendsed
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1 https://previouspaper.in/
1£232% of 37 0, 0bx 15 20, then x =

¥ O0%), 37-% C0%) 237% OFO WSS, r=

Options :
S

39448425157, % 1 R\

N

*

39448425158, # 2

39448425159, # 3

39448425160. ¥ 4 )’\\.'Q
A\

Question Number : 91 Question Id : 3944846544 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e0050eded aranred
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If the mnnpstigsrediofiapiprisnncreased by 20% and the denominator is
decreased by 10% the fraction becomes % What was the original fraction ?
28 D) OINE) O 20% DOV DBAN FTR) 10%
SOV € £)3) s E 90NN, @Y ®IEN 855 0ch
CG0GN?

1)

LS ] -2
| S— L
~3 | = =11 w

o
o S
=31 | ra

Options : ‘\\Q
39448425161, * 1 X
S
Q

39448425162, # 2
39448425163. ¥ 3

39448425164. ¥ 4

Question Number : 92 Question Id : 3944846545 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e0050eded aranred
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A man beRgHfrrawyshRPetifiage for Rs.3000. He sold the horse at a gain
of 20% and the carriage at a loss of 10%, there by gaining 2% on the whole,
Then the cost of the horse 1 (in rupees)

2,8 558 2.8 HETR) B HEsy 202 &, 3000 %) Eary .

HETRY 20% e7erRE. AR 10%9arAE @) B8
0SB0 2% 7250 SV I0O. @) HETR) §&) T ([Bred)

1) 1200

2) 1700 A

&
3) 1750 Q
N
1) 1500 \\;,JQ
.\0

Options : Q

39448425165. ¥ 1 \\Q

39448425166, # 2

Se
5 \
39448425167. % 3 \6& 2

39448425168, ¥ 4

Question Number : 93 Question Id : 3944846546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
@08e3ed rendsed
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By selliiiPsit/RGVICYSPRRIS a merchant gets a loss of 9 % %. In order fo
get a profit of 7 % %, the selling price of the article in rupees is

28 D B, 4545 5 @96a1)¢50 T°50° 28 HOZIRE 9&% R0
SDY0B. 7=% €70 FOOTAE & VI O G
(&r.)

1) 5250

Options: Q\
39448425169. % 1
39448425170. # 2

%0
39448425171, ¥ 3 ’&
I\«

39448425172. ¥ 4

Question Number : 94 Question Id : 3944846547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e05teded arnQsed
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https://preyi in/ . . .
Three pers 15 A B, C eiteted mito a business with a total capital of

Rs.250000. 4 nvests Rs.20000 more than B and B mvests Rs.25000 more
than C. If at the end of the year. there is a profit of Rs.70000. then B’s share

in the profit in rupees is

S0MHE 55500 A, B, € 502 &, 250000 e A0 2.8
50 (2P002)008. BET) A &F. 2000000 B0 € ) B
8. 25000 ©65) e9OZ0TT 2EVAET EB. 068 T°08 7250 &,
700006 0N, & €720 & B arer (&r. o) \Q\

N
1) 29400 QQ"
O>°
2) 27800 A\O
ﬂ &
3) 16800 c‘)\\Q
4) 23800 Q
N\
Options :

39448425173, ¥ 1
39448425174, # 2
39448425175. # 3

39448425176. ¥ 4

Question Number : 95 Question Id : 3944846548 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Arithmeitiged: Adpéliiguspaper.in/
e050edes aransed

Three persons A, B, C started a partnership business with the understanding that
A would mvest 100% of the capital where as B and C run the business for 4 and
6 months respectively. At the end of 10 months A got 50% of the total profit

of Rs.4 lakhs. Then the share of the profit of C (rupees in lakhs) i

MDD 530e0 A, B. Co0 2.8 GG F5arorR) & OO 2.8
OITTIS  |PO0D0ND. VA Jwdo  100%, A
QDB Y&, ST B aDBOI0 C €0 )M 4 DBA 6 JOen
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Pipe “A” can fill a tank in 5 hours, but due to a tiny hole at the bottom it took §
hours to fill the tank. Then the time. in hours, for the full tank of water to be

dramned through the tiny hole is (in hours)
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Pipe A fills an empty tank in 4 hours and pipe B in 6 hours. If the two pipes are
opened for one hour each alternatively with pipe A being opened first, then the
tank will be filled (in hours) 1s
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Ifa train of 240 meters long crosses a bridge of length 180 meters in 20

seconds, then the speed of the train (in kmph) is
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If a train FHRE¢RIRVRHRRERE L1065 a platform of length 35 meters. the speed of

the train (in kmph) 1s
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A persoftRTAPRYSNSPAREE B work in 20 days and another person-B in 30
days. With the help of another person-C they completed the work in 6 days.

Then the number of days in which C alone can complete that work 15

A &% 558 28 HA 20 BSar, B eF HF 958 97 HA 30
B Sr 0 Babiierd. DG EDR 5% &8 C HaHos &
A 3500 6 TSR 0 TR0, @YD C 24T 8 HAD &0
DOSWEE HEY B2 How;

&
é R

25 12 Q%Q
3

©

Options :

39448425197. ¥ 1
39448425198. ¥ 2
39448425199. ¥ 3

39448425200. ¥ 4

Question Number : 101 Question Id : 3944846554 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



Arithmeitiged: Adpéliiguspaper.in/
e00¥feded aranPsed

Two persons A and B together can finish a piece of work in 12 days. while B
and C can together finish the same piece of work n 16 days. If A, B, C work
together, they can finish it in 8 days. Then the number of days required for C

alone to compete the work is
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The area of a square is 196 sq.cm. whose side is half of the radius of a circle.

The circumference of the circle is equal to the breadth of a rectangle. If the

perimeter of rectangle is 712 cm, the length (in cm) of the rectangle s
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A window 15 in the shape of a rectangle surmounted by a semi circle on the

width of the rectangle. If 12 cm. 8 cm are the sides of the rectangle. then the

area of the window ( in cm?) is
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Arithmetical Ability
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120 boys take a dip simultaneously into a swimming pool of length 80m and
breadth 30 m. If the average displacement of water spilled over by one boy is

5, then the raise in the water level (in m’) of that swimming pool will be
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Volume of a right circular cone having base radius 70 cm and curved surface
area 40040 cm?’ is (in cmy?)
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A spherical ball. when immersed in a cylinder of base radius 7 cms., raises the

level of water in the cylinder by 2 cms. Then the radius of the ball (in cm)
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Arithmetical Ability
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A cuboid of dimension 16 cm x 12¢m x 8 em is cut into 24 equal small cubes.

Then the length of the side of each small cube in cm, 1

16 0. QDX 0. VX 8 0. .50 O A0 & 24
DAY BN DRONT DBR0NG. Q) €8 090 TN, &m@ﬁc’a@
(0. . ) S

B S

1) 8 N\
2) 6 &Q)A
) ‘\\Q
3) 5 ch
&
4) 4
Options :

39448425225, ¥ 1
39448425226. # 2
39448425227. ¥ 3

39448425228. ¥ 4

https://previouspaper.in/



Questiohtpaibyeriotiopaaestion Id : 3944846561 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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The sum of the dimensions of a cuboid 1s 13 cm and its diagonal is 5 V3 cm.

Its surface area (in cm?) is
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If p anditesd/arevieHsRRRe en which of the following represents a

tautology?
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If a set qt tﬁ’%/épﬂ%\ﬂloéfﬁ?aﬁlﬁgné elements and A U B has 10 elements. then

the number of all subsets of A(B 1s
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If A has st ei Tents. e the number of relations on A that are not
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If a line passing through the points (3. -5) and (7. 1) make mtercepts a, b on

the coordinate axes. then a*+ b* =
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The perpendicular distance from origin to the line passing through the point

(15. -5) and making an angle 135° with positive x-axis is
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From ¥R 0 G IRIRAL T Réight 20m, the angles of depression of the top
and bottom of a tower are 30°, 60° respectively. Then the height of the tower.
in meters, i
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If the sihttpeid previotspRerivts of the equation ax? — 5x + ¢ = 0 are equal

to 10 each, then the value of o and ¢ respectively are
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If one 100 of rée%'c(ﬁﬂqsﬁ)mf) Tit'— 8x + 2k +1 =0 is seven times the other.
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Ifa+bx*+ax+band x* + bx + a have a common factor, then
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A mumPEPHAR RSP AMcEeively by 4. 5 and 6. The remainders were
respectively 2. 3 and 4. The number is
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Correct Marks : 1 Wrong Marks : 0

(11) Aigebrmc and Geometrical Ability
DA, 2rsnBAh FGes
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If x {hypsdiprevioyspapepiny + x = ¢ thenx — 2y +z =

x+y=ay+z=bz+x=c @ONIHRD, x —2y+z=

1} 2a—b—¢
2)2b—a—c
3) 2c—a—>b

4) 2a+b—c

Options: (b"
pt Q;Q

39448425305, * 1 QQ.
39448425306, * 2 Q\

39448425307. ¥ 3 ‘\\Q

39448425308. # 4 &

&
Question Number : 128 Question Id : 3944846581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
DB, 25 0edah wardodse
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It9 il R R s B hmetic Progression 1s equal to 13 times the

13% term, then the 22" term of the Arithmetic Progression is

2,8 @O¥EA O 95 T8 9 DY OO 135 TG 1386%
NSRS, €3 0¥ EAS 2265 HE0

Options :
S

39448425309. ¥ 1 A\
39448425310. ¥ 2

39448425311. # 3 ‘\\Q

*

39448425312, % 4 ,’&\Q
AN

Question Number : 129 Question Id : 3944846582 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
DS, 2sedah ardotisds
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If the third term of Geometric Progression is 4.  then. the product of its first 5

ferms 1s

2,8 H2EG SR 36 HB0 4 AR & HEAFESR AE 5

QIO OO

Options :
S

39448425313, ¥ 1 A\

N

*

39448425314, # 2
39448425315. ¥ 3

39448425316. ¥ 4 ”\\Q
A\

Question Number : 130 Question Id : 3944846583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

(ii) Algebraic and Geometrical Ability
DB, 25 nedakh ardodises
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If the cduffisiémeefouspanardnie 4™ terms in the expansion of (1+ x)" are

in Arithmetic Progression. Then the value of 1 i

(14 0)"BE) NGRS 25, 30 HOAM 45 HTO HEITEN

90¥FAS GOV, 1N

Options: e
39448425317. % 1 )’\\Q
39448425318. ¥ 2 \Q
39448425319. ¥ 3

39448425320. ¥ 4

Question Number : 131 Question Id : 3944846584 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
DB, 25 0edah wardodse
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For 0 @tﬁqgf?pﬂuépﬁﬂ’ﬁ“ﬂ{en I C1 + 2.C2 + 3. (3 + -+ 10, Cip =

0<r<10 8 (=10, ©ONY® Lo +2c+3cg++

10. Cl@ =

1) 1024
2) 2560

3) 5120

4) 10240 .
) S

Options : ‘\\Q

39448425321, % 1 R
39448425322, % 2 \&\Q
39448425323, ¢ 3

39448425324, ¥ 4

Question Number : 132 Question Id : 3944846585 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
DBy, 2rsedaky ardodses
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Ifthe matrix {4 2 x |issingular. thenx =

1 -1 5

i 1 3
42 x| ORI OO0 WONS, ¥ =
1 -1 5

17

1)?

-17

2)7

32

Options : A\

39448425325, % 1 \\Q
39448425326 ¥ 2 S
&R

39448425327. ¥ 3

39448425328. ¥ 4

Question Number : 133 Question Id : 3944846586 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
DBy, 2rsedaky ardodses
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If x, ahttps;/fprevieyspegberpmt of values of x satisfying the matrix equation

I & 21 N1
e afz s 1] -
15 3 2 lx
1 3 2

17 [0
378 0880 [1 x 1][2 5 1] [2]=‘0].5\33é@§g§)®3
15 3 21 Lkl o

x B308) 28 26 DENIEN 1 OO X, 1, > X,  BONES, W)

0
X
0]. then — =

0 "2

&

1 N\
1) = &

: N
)= \\?’Q

6 QO

Q\
oF &
AR
03 &
AN\
Options :

39448425329, ¥ 1
39448425330. # 2
39448425331. ¢ 3

39448425332, ¥ 4

https://previouspaper.in/



QuestiohtpaityeriptiBgaQaestion Id : 3944846587 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
DA, 2s0edah arndsed

" 1 — cos5x
im =
x—0 42

Options :

39448425333, ¥ 1
39448425334, ® 2
39448425335. # 3

39448425336. ¥ 4

Question Number : 135 Question Id : 3944846588 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
Do, eI ah Az
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Ify=yxt = tiren = Y= equal to

s W 978, 1= B oy
y—\/ﬂﬁ ©ONAIYD, ¥=10 — O

I~
o
2 | =

Ll
S
-
=1l

Options :
39448425337. ¥ 1 %‘\\Q
39448425338. # 2 ,’\\,Q
39448425339, # 3

39448425340. ¥ 4

Question Number : 136 Question Id : 3944846589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

(ii) Algebraic and Geometrical Ability
DB, 25 nedakh ardodises
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The equatipg:dPrievieuspapaidnhrough the point (1. 2) and perpendicular to

thelinex+y+1=01s

x+y+1=009% ©020™ ot (I, 2) Doty How ¥
HES0D Da08BE0

1) y—x+1=0
) y-x—1=0
3)y-x+2=0

§y-x-2=10

Options : (bQ
39448425341, ¥ 1 C_)Q
S

39448425342, ¢ 2 :

39448425343, % 3 .&Q)

39448425344, ¥ 4 .\\Q

Question Number : 137 Que&n Id : 3944846590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
DS, 2s0edah ardotises
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ABCDTRSTBEAMBHSARR B Ynd CD as its parallel sides. If the diagonals AC

and BD mtersect mEand CE: EA=3:2. thenAB:(CD=

AB 000 CDEX dadroedd eheren™ ABCD 28 Qa®od)
25e80)230. AC OO BDAET) EQ 0B30th3008x CE : EA=
3:209008 AB:(D =

1) 1:2

2) 2:3

Options : A\
39448425345, % 1 &QJ

39448425346. ¥ 2 %o\\Q
39448425347. # 3 Q\\Q

39448425348, ¥ 4

Question Number : 138 Question Id : 3944846591 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
DS, 2sedah ardotisds
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The equiiBi 4P FUR4ERARR 0 REin as centre and passing through the vertices

of an equilateral triangle whose median 1s of length 3a 1s

DAAB0 8P 3aTT 0 2,8 DeDereT0 (320220 3T HOT ek
3070 200580 301A0 e $9B0 NaddBe0

1) x? +y? = 9q?
2) x2 + y% = 16a?
3) x%+y% = 4a®

4)x2+y2=a2 .\.Q\

Options :
. &
39448425349. \\Q

39448425350. # 2
39448425351. ¥ 3

39448425352, ¥ 4

Question Number : 139 Question Id : 3944846592 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(if) Algebraic and Geometrical Ability
DS, 2sedah ardotisds
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If A3 .h-%’.szﬁf)-rfvﬁ ‘ﬁ?ﬁﬁ'ﬁ%rﬂﬂﬁu C(x, y) 15 on the line segment AB between
A and B such that AC =8, then 3x+ 2y =

A (3,-7). B(-2.5) s8N C (1, 7) & 200, A 0805 BO 60356
AB 93 08 0Ca 3 AC =8 0D 5EEN0TY ) )¢ 3x + 2y =

Options :
39448425353, % 1 .&Q)

39448425354, # 2 .\\Q

*

K
N\

39448425355. ¥ 3

39448425356. ¥ 4

Question Number : 140 Question Id : 3944846593 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(11) Algebraic and Geometrical Ability
DBy, 2rsedaky ardodses
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[f a line thalpss Mpeepisluspapepinon X. v axis with the sum 12 and if it passes
through the point (2, 4), then the perpendicular distance from origin to the line

15

12 & 0SB0 2.8 N8 DD ¥, y OFTOR JSTV0 T 0
DOTOTOIDT, 20C0eH(2. 4) HOT FEROTY PO 20
0 & Bd ©o2ATS0

Sl s
5%
7

Tl e
L,

4y

Sl @
~
7

Options :

39448425357. % 1
39448425358 ¥ 2
39448425359, ¥ 3

39448425360. ¥ 4

Sub-Section Number : 3
Sub-Section Id : 394484664

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 3944846594 Question Typﬁt:t aél_(f'/grg\h)&ijggaspl'grjm'ng :No



Display Questipr \Nwsilseet.Vés Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
AromsEE ) arang sed

If the arithmetic mean of the series ay, ay, ... a, 1s A and the arithmetic mean of
the series by, by, ... by, 15 B. then the arithmetic mean of the series

a, +by.a; +by,...,a, +b, 1

0y, Uy, . @y O (30 T30E) 08500 A sDOOM
by, by, ... b, O (36 B30E) 905NELN0 B OOV, \Q\
ay + by, 1y + by, o, 1y + by OF 3G OO, 90805600 Q’} '

Options :

39448425361. % 1
39448425362. ¥ 2
39448425363. ¥ 3

39448425364. ¥ 4
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Questiohtipaibyeriot4paQaestion Id : 3944846595 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability
aroms g o A s

The median of the first 41 even natural numbers is

341 B eFE OB aDCSHd

1) 40

2) 41 \Q\

Q} .
3) 42 o
SN
4) 44 . 0\\
Q\
&Q)
N
%.
D

Options :

39448425365. ¥ 1
39448425366. # 2
39448425367. ¥ 3

39448425368. ¥ 4

Question Number : 143 Question Id : 3944846596 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
https://previouspaper.in/
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romsEE o ol

Arithmetic Mean of the following frequency distribution 15

1808 3005 02323 O30E) @0ZeNE)§e0

ey |
|
|
L
o0

Height o)€3) 52-55 5861 61 - 64
(in cms)
Frequency 15 20 25 10

RN INVI(O

1) 58.25

2) 57.78 (&
) &Q
3) 59.25 QO

4) 60.00

Options :

39448425369. ¥ 1
39448425370. ¥ 2
39448425371, ¥ 3

39448425372, ¥ 4

Question Number : 144 Question Id : 3944846597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability
o ET o Aol seb
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The vartatps:0ptheidaispdpédr.iii2. 153. ... . 17518

151,152,153, ..., 175 @98 OTF04) dNyed

Options :
S

39448425373, ¥ 1 A\
39448425374. ¥ 2

39448425375, % 3 \\Q
39448425376. % 4 \Q
Q

Question Number : 145 Question Id : 3944846598 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability
o T o el
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If o is MERBHIBIRYIRNSRARCSS 5}/1 X9, X3, .., Xy then the standard deviation of

the observations 5x; — 11,5x, — 11,5x, = 11, ... 5x,, = 1115

X1 X3, X3, weer X © (8a02)TION0 6 0NN,

5x, — 11,5%, — 11,52, — 11, ... 5%, — 11 & D030 502900

Options : .\\Q
39448425377, % 1 &&Q%
AN

39448425378, # 2
39448425379. ¥ 3

39448425380. # 4

Question Number : 146 Question Id : 3944846599 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability
o ET o Aol seb
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In a data ‘-ﬁﬁli ObServATIONS. rﬂe coefficient of rank correlation 1s zero, then

12
2
i=1

12 5890050 &S00 Ty, 563 230208 (Heaso e

BONS, )

12
2
i=1

1) 286 Q’)& .
2) 215 ?&
\\5&
) 143 A‘\Q
<

\

)72 ‘\\Q
%.
R
Options :

39448425381, ¥ 1
39448425382, # 2
39448425383. ¥ 3

39448425384, # 4

Question Number : 147 Question Id : 3944846600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability
o ET o el e
https://previouspaper.in/



If a nuniistpsy/ feieviadspapedoin/from the first 120 natural numbers. then the

probability that it is a multiple of 6 or 8 1

SN 120 FE ODIONOG 28 oD AlFdyRHEorT

Do) 300D &8 6 B 8 3w (Hedeso @as, No2radses

Options :

39448425385, # 1
39448425386. # 2
39448425387. ¥ 3

39448425388. ¥ 4

Question Number : 148 Question Id : 3944846601 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability
oo el

https://previouspaper.in/
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When 5 Box?ss ng ¢ \g_/rh‘ S 31t 1 a fow at random, the probabulity that no two boys

sit together 1

S9E 2rend HBAN 619 2PN AirGYD IS0 2.8 HAONS
§r8100), o A0 wrendd $O2 850 )00w Goderas edh;

NOTARNG
) =
1
DE
o
) \‘Q\
4) = )
E S

. . ¢
Options : QD
\
Q&

39448425389. ¥ 1
39448425390. # 2
39448425391. ¥ 3

39448425392, ¥ 4

Question Number : 149 Question Id : 3944846602 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability
o T o el

https://previouspaper.in/



When @Bt%%iléﬁﬁ?\ﬂﬁ?ufﬁ? &6"Y random from 15 persons who sat around a
table, the probability that the selected persons are not adjacent to each other is

2,8 DO DO LY )Y, 15008 5508 D0 BPHG
HIOD  AFGYIEOT DD)B0D, TOID 1D 05D

SH0HEF d02F5es
1) j
13
2) = \
15(:2 &“\Q
3) — Q

S
Options : Q\&Q
39448425393, ¥ 1 \Q
39448425394, ¥ 2

39448425395, # 3

39448425396. ¥ 4

Question Number : 150 Question Id : 3944846603 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statistical Ability
romfE N ol
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Out of RS REEH RHFRRPEY distinct digits formed by using the digits 1.
2.3.4.5. A number 15 chosen at random. Then the probability that the chosen
number is odd 1s

1,234 593 ©90300IGPA00 J8)d) ©OTN0E 4 @030

D0 NEIGD) @0NSA 2.8 D0 CIPEIDIEOT 0
DR, A B d0WS @BDHS N02TN5E

J—
o —
| e

) 61 .\Q\

120

E] R
7)) 120 C_)Q

7

Options :

39448425397. ¥ 1
39448425398. ¥ 2
39448425399. # 3

39448425400. # 4

Communication Ability

Section Id : 39448496
Section Number : 3
Section type : Online

https://previouspaper.in/



Mandatadiyper/@ptioospaper.in/

Number of Questions :
Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 151 Question Id : 3944846604 Question Type : MCQ Option Shuffling : No

Og{on Orientation : Vertical
N\

Display Question Number : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blar

verb/phrase/preposition.

*

1) rigid \\Q
2) tasteless \Q%’
A\

3) hornd

4) stupendous

Options:

39448425401. # 1
39448425402, ¥ 2
39448425403. # 3

39448425404. = 4

Question Number : 152 Question Id : 3944846605 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
https://previouspaper.in/

Mandatory
38
38
50

Yes

1
394484665

Yes

&.

% Qh)correct word /
X
Insipid A\O



Correct MpkEpreWrsngadarks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.
Sedulous

1) careless

2) incredible

3) diligent

4) callous

Options : '\’Q\
39448425405. # 1
N

39448425406. # 2 CQQ
39448425407. ¥ 3 N 00‘
N
39448425408. ¥ 4 &Q)
Question Number : 153 Questi ) 3044846606 Question Type : MCQ Option Shuffling : No

Display Question Number :\Q’s\rs Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/
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1) shyness
2) anxiousness
3) aggression

4) skill

Options :
39448425409, # 1 \
39448425410, ¥ 2 ®

39448425411, # 3 QQ}‘

39448425412, ¢ 4 .Q(b’
%

.\Q
Question Number : 154 Question Id : 394@&507 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Ql\é@m Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks"\Q%'

Choose the correct word/correct m}é&\'ﬂg of the word/Fill in the blanks with correct word /
verb/phrase/preposition.
Deplete

1) drain

2) delete

3) recede

4) compromise

https://previouspaper.in/



Options https://previouspaper.in/
39448425413, ¢ 1
39448425414, # 2
39448425415, ¥ 3

39448425416. ¥ 4

Question Number : 155 Question Id : 3944846608 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

Gluttony ‘\’Q\
1) insanity QQ}

N
2) overeating QCJQ
R O
) profundity A

4) felony \\Q

Options :

39448425417 ¥ 1
39448425418. ¥ 2
39448425419, ¥ 3

39448425420. ¥ 4

Question Number : 156 Question Id : 3944846609 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.
https://previouspaper.in/
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1) bold
2) crazy
3) sleepy

4) false

Options :
39448425421, ¥ 1
39448425422, % 2 ’ ’Q\
39448425423, ¥ 3 Q}‘
39448425424, % 4 %Q%Q
Sub-Section Number : R 00 2
Sub-Section Id : ,&Q)A 394484666
Question Shuffling Allowed : ‘\\Q Yes
S
R

Question Number : 157 Que!Q’uSh Id : 3944846610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/
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One who lacks professional skill or enterprise is

1) ignoramus
2) illiterate
3) amateur

4) expert

Options:
39448425425, % 1
39448425426 % 2
39448425427, ¥ 3 \
.\Q
S
N

Question Number : 158 Question Id : 394484661 estion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question&@datory : No Option Orientation : Vertical

39448425428. ¥ 4

Correct Marks : 1 Wrong Marks : 0 \Q)

Choose the correct word/correct meaning o fh‘xordfFill in the blanks with correct word /
verb/phrase/preposition. ’@
AN\
A sfatement or proposition on which an abstractly defined structure is based 1s called .
1) idiom
2) deletion
3) addition

4) axiom

Options :
39448425429, % 1

39448425430. # 2

https://previouspaper.in/
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39448425432, ¥ 4

Question Number : 159 Question Id : 3944846612 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.
Tigers are known for their
1) docility
2) ferocity , Q\
3) magnanimity Q} :

4) vegetarianism COQ

Options : .\\Q
39448425433, % 1 &&Q%
AN

39448425434, ¢ 2
39448425435, ¥ 3

39448425436. # 4

Question Number : 160 Question Id : 3944846613 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/
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The horse is running )

1) fastly
2) fast
3) slow

4) brisk

Options:
39448425437, % 1 \
39448425438, ¢ 2 ®
39448425439, ¥ 3 QQ}‘
39448425440, ¥ 4 c_',Q(b.
Sub-Section Number : .\0 3
Sub-Section Id : A 394484667
Question Shuffling Allowed : \\Q Yes
&&%
Question Number : 161 Que%n Id : 3944846614 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/



They ha\-'p f e?l:{{{)’ililegvill? ok ﬁﬁlcrél%(}{}. What is the part of speech of ‘since’ ?

1) conjunction
2) adjective
3) preposition

4) adverb

Options :

39448425441, % 1
39448425442, % 2
39448425443, ¥ 3

39448425444, ¥ 4 \’Q\

N

Question Number : 162 Question Id : 3944846615 Q&tion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question M tory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0 A

*

verb/phrase/preposition. %.

N

From his expression it was that\h%ﬁd not know the answer to the question put by the

Choose the correct word/correct meaning of thﬂ@diﬁll in the blanks with correct word /

nterviewer.

1) incident
2) antecedent
3) evident

4) precedent

Options : https://previouspaper.in/



3944842 https;/fpraviouspaper.in/
39448425446. % 2
39448425447. ¥ 3

39448425448, ¥ 4

Question Number : 163 Question Id : 3944846616 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

bits is equal to one byte.
1) Twelve
2) Fourteen Q}Q
3) Nine 00
4) Eight A\

&
Options : ’&
QO
39448425449, ¥ 1
39448425450. # 2

39448425451, ¥ 3

39448425452, ¢ 4

Question Number : 164 Question Id : 3944846617 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/
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Digital sign S {mve discreet values.

1) ISBN
2) ISDN
3) ICCD

4) http

Options :
39448425453, # 1
39448425454, ¥ 2 \
39448425455, * 3 ®
39448425456. % 4 %QQ}‘
R
Question Number : 165 Question Id : 394484 uestion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Questi andatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0 ‘\\Q

*
Choose the correct word/correct mean@%e word/Fill in the blanks with correct word /

verb/phrase/preposition. \6\.

Simplex is

1) data transferred in more directions than one
2) not transferring any data at all
3) making data transfer more and more complicated

4) data transferred in one direction only

Options:
39448425457, ¥ 1

39448425458, % 2 https://previouspaper.in/
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39448425460. ¥ 4

Question Number : 166 Question Id : 3944846619 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

C.H.D.L. stands for

1) Computer Hardware Data Link
2) Computer Hardware Description Language ‘\Q\

- S
3) Computer Hardware Description Link Q
N
S
R\Y

4) Computer Hardware Data Language

s &
Options: < é
\
\&

39448425461, ¥ 1
39448425462, ¥ 2
39448425463. ¥ 3

39448425464, ¥ 4

Question Number : 167 Question Id : 3944846620 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/



htE %15// ¥'{(:)Hl? e ertonmm e data between RAM and CPU.

1) Cache
2) Modem
3) Mouse

4) Software

Options :
39448425465, ¥ 1 , ’Q\
39448425466. # 2

39448425467. ¥ 3 (bQ

39448425468. ¥ 4 Q

A\
Question Number : 168 Question Id : 46621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is 8:1)1 tion Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marhs\."&

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

The graphic rating scale method assesses an individual on the basis of
1) work and personal traits
2) personal traits but not work
3) work but not personal traifs

4) competence other than work or personal traits

Options :
https://previouspaper.in/



3944842 https;/fpraviouspaper.in/
39448425470. ¥ 2
39448425471. ¥ 3

39448425472, ¥ 4

Question Number : 169 Question Id : 3944846622 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

Laissez-Faire leadership involves

Q
Q} .

2) giving control to the leader Q‘&
O

1) giving freedom to the group

3) denying freedom to the group .
O
4) control by an external agency of both thddgader and the group
R

Options : \Q
39448425473, ¥ 1

39448425474, # 2

39448425475, ¥ 3

39448425476. ¥ 4

Question Number : 170 Question Id : 3944846623 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/
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Esprit de corps implies

1) Loyalty of a group to the member. not vice versa
2) No loyalty of a member to the group
3) No rule. no regulation for any member

4) Loyalty of a member to the group

Options:

39448425477 % 1

39448425478, % 2 \
39448425479. % 3 ®
39448425480. ¥ 4 QQ}
Sub-Section Number : G_}Q‘b

Sub-Section Id : .\00 394484668

Q
N

Question Number : 171 Questi@ 3944846624 Question Type : MCQ Option Shuffling : No
Display Question Number :\Q’}fs Question Mandatory : No Option Orientation : Vertical

Question Shuffling Allowed : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/
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A : “We cannot discount the possibility of further strikes.”

B: “You are always a pessimist.”

According to ‘B’. ‘A’ is

1) wrong
2) right
3) doubtful

4) cynical

Q}‘
Options : (bQ
39448425481, % 1 SQQ
39448425482, % 2 4\0
39448425483. ¥ 3 \QJ

39448425484, ¥ 4 *\\Q
R
Question Number : 172 Question Id : 3944846625 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/



My dog WAPSfPseviQHspaper-in/
The underlined phrase means

1) was knocked down

2) overtaken

3) overflowed

4) defeated

Options : “\’Q\
39448425485, ¥ 1 Qé

N
&
=

39448425488, % 4 Q\

39448425486. # 2

39448425487. ¥ 3

Question Number : 173 Questio@3944846626 Question Type : MCQ Option Shuffling : No
u

Display Question Number :@

Correct Marks : 1 Wrong Marks : 0

estion Mandatory : No Option Orientation : Vertical

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

The Manager threw cold water over the project that the Engineer had prepared.

Underlined idiom means:
1) accepted
2) discouraged
3) reclined

4) encouraged

https://previouspaper.in/



Options https://previouspaper.in/
39448425489. ¥ 1
39448425490. ¢ 2
39448425491, ¥ 3

39448425492, ¥ 4

Question Number : 174 Question Id : 3944846627 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

A : Have you prepared the presentation? ‘\’Q\
Q} .
R
‘B’ Means that he . &Q
R\Y

B: Yes. but I don’t want to show my hand jus yet.

1) will not reveal his plan of action \\Q
, X
2) refuses to do it later
) R

3) cannot fight with anyone

4) 1s unable fo do the work

Options :

39448425493, ¥ 1
39448425494, % 2
39448425495, # 3

39448425496. ¥ 4

Question Number : 175 Question Id : 3944846628 Question TypeM%Q-QptiRpaufling : No



Display Questipe \Nwsilsee!.Vés Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

Change the following info active voice:
“Our house is being painted.”
1) They paint our house.
2) They have are painted our house.
3) They are painting our house.

4) We paint our house.

Options : Q\
39448425497. ¥ 1 &QJ

30448425498, # 2 %\\Q
39448425499, ¥ 3 ,a&&Q

39448425500. ¥ 4

Question Number : 176 Question Id : 3944846629 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/



The work SXRS A RIBYQHIPIRELIow Krishna cleverly in the end.

1) pulled it out
2) pulled it on
3) pulled it up

4) pulled it away

Options :

39448425501. ¢ 1

39448425502, # 2

39448425503. # 3

39448425504, ¥ 4 . ’Q\
N\

&
Question Number : 177 Question Id : 3944846630 %@on Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question M@\b‘tory : No Option Orientation : Vertical

\

L

Correct Marks : 1 Wrong Marks : 0

*

verb/phrase/preposition. %‘

N

A ; They started arguing over ;gece of land.

Choose the correct word/correct meaning of tl@'Fl in the blanks with correct word /

B: It has been a bone of contention between them for long.

B means that the piece of land was

1) reputed
2) deputed
3) disputed

4) deserted

Options : https://previouspaper.in/



3944842 b#pS;/fpreviouspaper.in/
39448425506. # 2
39448425507. ¥ 3

39448425508. ¥ 4

Sub-Section Number : 5
Sub-Section Id : 394484669
Question Shuffling Allowed : Yes

Question Number : 178 Question Id : 3944846631 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with wr@\word /

verb/phrase/preposition.

A : T thought he was a gentleman. Q
B: True. he is accustomed to backbiting.

Q\

B means that the person in question is in %&lt of
1) ignoring people openl}r
2) criticizing people in their absence
3) praising people

4) backing people without hesitation

Options :
39448425509. ¥ 1
39448425510. ¥ 2

39448425511, # 3

https://previouspaper.in/
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Question Number : 179 Question Id : 3944846632 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

Rainy season has . and the days are getting cool.
1) setdown

2) setin

3) seton ‘\’Q\

4) setoff
) seto (&
Options :
S

39448425513, % 1 Q\
.&Q)
AR

*

39448425514, ¥ 2

39448425515, # 3

30448425516. % 4 &&Q
A

Question Number : 180 Question Id : 3944846633 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/
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1) rage
2) laziness
3) rudeness

4) gratification

Options :
39448425517. ¥ 1
39448425518. ¥ 2 . .Q\

39448425519, % 3 QQ} :

39448425520. ¥ 4 Q‘b"
NS

.\0
Question Number : 181 Question Id : 3944@3634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Q A@m Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : %‘

Choose the correct word/correct m@g of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

https://previouspaper.in/



Mohan hitRsidpieadadsiapgnin/ eating sugar.
1) in
2) by
3) from

4) of

Options :
39448425521, ¥ 1 N \
&

39448425522, # 2

39448425523, ¥ 3 (bQ

39448425524, ¥ 4 Q
Q\

Question Number : 182 Question Id 46635 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is §t

Correct Marks : 1 Wrong Marh@

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

ion Mandatory : No Option Orientation : Vertical

https://previouspaper.in/



Everyone RR:PIRY RYUERAREH40 God one’s actions,

1) about
2) for
3) by

4) on

Options :
39448425525, # 1 \
39448425526. ¥ 2 ®

S
39448425527. ¥ 3 Q
oy

39448425528, * 4 Qé’Q

.\Q
Question Number : 183 Question Id : 394@6636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Q,l)%s n Mandatory : No Option Orientation : Vertical

o
Correct Marks : 1 Wrong Mark
R

Choose the correct word/correct m\e%ng of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

The prisoner was
1) hung
2) hanged
3) hunged

4) hang

https://previouspaper.in/



Options https://previouspaper.in/
39448425529, ¥ 1
39448425530. ¥ 2
39448425531, ¥ 3

39448425532, ¥ 4

Question Number : 184 Question Id : 3944846637 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/correct meaning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

Q

She  the offer of promotion. Q} .
1) turned up (&
2) turned over QCJQ
3) turned to Q‘\O
4) turned down \ 'Q&Q)
N
D
Options:

39448425533, ¥ 1
39448425534, # 2
39448425535, # 3

39448425536. ¥ 4

Question Number : 185 Question Id : 3944846638 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



Choose thetRS 7RI @MIQUERAREREWning of the word/Fill in the blanks with correct word /
verb/phrase/preposition.

He made a discovery for which he was honoured.

1) senfimental
2) sensational
3) sensual

4) sensuous

Options :
39448425537, % 1 \
39448425538, ¥ 2 ®

S
39448425539. % 3 Q
(o
39448425540, % 4 0cr:,Q

Sub-Section Number : A’\O 6
Sub-Section Id : 394484670

&
Question Shuffling Allowed : %.\\Q Yes
&
Question Id : 3944846639 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (186 to 190)

Read the following passage and answer the questions.

https://previouspaper.in/



Literature httpsitljpraied usplpmroiifumanity’. Just as the brain preserves every experience
or sensation and judges a fresh experience or sensation in the light of the acquired knowledge or
experience so humanity at large has a record of its past in literature. Its present conditions.
problems and circumstances can best be examined and understood for it is a record available
through literature. Literature is fundamentally an expression of life through the medium of
language. It is the storehouse of individual human experience and also of experiences of the
human race in general. It does not simply record human deeds and actions nor does it concern
itself much with man and his social. political and economic activities. It is concerned chiefly with
man’s inner life — our passions, emotions and feelings. A description of outward human life 1s
just the means and not the end in literature. Man’s outer life is studied and examined to @wsrand
N\

him thoroughly and fully. Hence literature is concerned with human thinking a@e&hng - how

we think and solve our problems - ethical, moral, emotional and spirirucQ(b.

. 3’
Sub questions ,(\Q

Question Number : 186 Question Id : 3944846640 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



Why is HEP§HRRYAESRAREEIAN of humanity'?

1) It is recreative
2) Itis imaginative
3) Itis factual

4) It preserves the past and present of humanity

Options : '\’Q\
39448425541, ¥ 1 Q}
R

39448425542, & 2
SN

39448425543, # 3 . 0
K\
39448425544, « 4

<
W

Question Number : 187 Questio 3944846641 Question Type : MCQ Option Shuffling : No

&

Display Question Number : uestion Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is literature fundamentally?

1) Expression of language
2) Expression of life
3) Expression of experiences

4) Expression of knowledge

https://previouspaper.in/



Options https://previouspaper.in/
39448425545, ¥ 1
39448425546, ¥ 2
39448425547, ¥ 3

39448425548. ¥ 4

Question Number : 188 Question Id : 3944846642 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is ‘acquired knowledge’?

1) Knowledge through the experiences of the human race \“\Q
&
2) Knowledge through books (z}Q
3) Knowledge through teachers QCDQ
4) Knowledge based on political activities Q)A\
N
Options: \6\"&

39448425549. ¥ 1
39448425550. # 2
39448425551, # 3

39448425552, ¥ 4

Question Number : 189 Question Id : 3944846643 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/
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What is the major cmlcem OF ﬁp Tature?

1) Economic activities
2) Social activities
3) Human deeds

4) Man’s inner life

Options :

39448425553, % 1

39448425554, % 2

39448425555, % 3 \’Q\

%Q«z&

Question Number : 190 Question Id : 3944846 uestion Type : MCQ Option Shuffling : No

39448425556. ¥ 4

Display Question Number : Yes Is Questio@l\x}ndatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0 ‘\\Q

Literature is a storehouse of . Q% ’
— X

1) human necessities
2) material benefits
3) human experiences

4) vocabulary

Options : https://previouspaper.in/
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39448425558, # 2
39448425559, ¥ 3

39448425560. ¥ 4

Sub-Section Number : 7
Sub-Section Id : 394484671
Question Shuffling Allowed : Yes

Question Id : 3944846645 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (191 to 195)

Read the following passage and answer the questions. R Q\
O
Losers let it happen. Winners make it happen. Life s a do-it-yourself p@qﬂmmfar you give
credence in your thinking will likely come to pass. Learn to‘di@)p two critical abilities: the

N

abilify to live with uncertainty. and the ability to delav 1ate gratification in favour of long-
range goals. Losers try to escape from their @§mth activities that are tension-relieving.
Winners are motivated by their desires ’\l’\(ﬁ activities that are goal-achieving. Choose your
responses to what occurs. Learn from your mistakes, rather than repeat them. Spend time taking
action in the present rather than fearing what may happen in the future. And be different, if it
means taking the calculated risk. The greatest risk in life is to wait for and depend on others for

your security. The greatest security is to plan and act. and take the risk that will ultimately make

you independent.

Sub questions

Question Number : 191 Question Id : 3944846646 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
https://previouspaper.in/



Correct MpkEpreWrsngadarks : 0

What does the term ‘losers’ mean ?

1) Losers are active
2) Losers do not act
3) Losers let it happen

4) Losers prefer to complain

Options: ’\’Q\
39448425561, % 1 Q'} .

39448425562, ¥ 2 >
30448425563, % 3 &Q

39448425564, % 4 A‘\Q
.&Q)

Question Number : 192 Question %&44846647 Question Type : MCQ Option Shuffling : No
Display Question Number : Ye@uestion Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Ma\r%: 0

How do ‘winners make it happen’ ?

1) Winners have positive self-determination
2) Winners remain passive
3) Winners hate losers

4) Winners depend on others for their success

Options :

https://previouspaper.in/



3944842 h8ps;/fgreviouspaper.in/
39448425566. # 2
39448425567. ¥ 3

39448425568. ¥ 4

Question Number : 193 Question Id : 3944846648 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is essential for success?

1) Impatience

2) Patience and mental equilibrimm \‘\Q
Q

3) Greed and intolerance (&

4) An impulsive nature 00

&
Options : ’&
A\

39448425569. ¥ 1
39448425570. ¥ 2
39448425571, ¥ 3

39448425572. ¥ 4

Question Number : 194 Question Id : 3944846649 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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How do 10sers II}P to escapepf?(g)m t11e1/1' fear?

1) By ignoring the problem
2) By putting the blame on fate
3) By waiting for their luck to change

4) By distracting themselves with tension-relieving activities

Options :
39448425573, % 1
39448425574, # 2 \~Q\

39448425575, % 3 QQ} ’
39448425576. ¥ 4 Q‘b
NS

Question Number : 195 Question Id : 3944@&0 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is QU\@n Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : O%o

How can one achieve successé\'

1) By planning and working towards long-range goals
2) By not taking calculated risks
3) By making mistakes

4) By hasty actions

Options :
39448425577. ¥ 1

39448425578, # 2
https://previouspaper.in/
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39448425580. # 4

Sub-Section Number : 8
Sub-Section Id : 394484672
Question Shuffling Allowed : Yes

Question Id : 3944846651 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No

Question Numbers : (196 to 200)

Read the following passage and answer the questions.

https://previouspaper.in/



tﬁ] tlgtsciflﬁtrl%ylolgﬁ%y 1a1 ma\ travellers and now on sale at a great London station has
been published, and many people who read it have been astonished at the absent-mindedness of
their fellows. If statistical records were available on the subject, however. I doubt whether it
would be found that absent-mindedness is common. It is the efficiency rather than the inefficiency
of human memory that compels my wonder. Modern man remembers even telephone numbers.
He remembers the addresses of his friends. He remembers the dates of good vintages.

He remembers appointments for lunch and dinner. His memory is crowded with the names
of actors and actresses and cricketers and footballers and murderers. He can tell you what the
weather was like in a long-past August and the name of the provincial hotel at which he had a vile
meal during the summer. In his ordinary life. again. he remembers almost everything that he is
expected fo remember. How many men in all London forget a single ifem of theu(Ma when
dressing in the morning? Not one in a hundred. Perhaps not one in ten d How many of
them forget to shut the front door when leaving the house? Sc C%Jore And so it goes on
through the day. almost everybody remembering to do th@é}hﬂlgs at the right moment till it
is time to go fo bed. and then the ordinary man sé@&mete to turn off the lights before going
upstairs. ,&

As for leaving articles in Trajj\%d in taxies, I am no great delinquent in such matters. I
can remember almost anything except books and walking-sticks and I can often remember even

books. Walking-sticks I find it quite impossible to keep.

Sub questions

Question Number : 196 Question Id : 3944846652 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/



The essa}%ﬁ’ssé/s/tefl‘fs‘ﬂ%ﬁﬁ?lpiir}/
1) the loss of articles by passengers in the railway station
2) the efficiency of human memory
3) forgetfulness

4) absent~mindedness

Options:
39448425581. ¥ 1
39448425582, ¥ 2
39448425583. # 3
39448425584. ¥ 4 \

N
&

Question Number : 197 Question Id : 3944846653 Que@n Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Man y : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0 Q‘\O

“Modern man remembers even telephone numbE\@a this statement what does the author

\Q

1) Itis difficult to remember telephone numbers

suggest?

2) Modern man remembers only telephone numbers and nothing else

3) Modern man is poor in memory

4) Modern man remembers unimportant things but forgets important things.

Options:
39448425585. # 1
39448425586. # 2

39448425587. # 3 https://previouspaper.in/
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Question Number : 198 Question Id : 3944846654 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The word “*Scarcely more™ in the context of the passage means
1) Not more than one in hundred
2) More than one in ten thousand
3) Not more than one in ten thousand

4) all of them

Options : Q
QO
k3
39448425589, ¥ 1 GJQ

39448425590, % 2 . 00’
Q\
39448425591, ¢ 3 &Q)

39448425592, ¥ 4 \\Q

*

\Q%

Question Number : 199 Que&@%’l Id : 3944846655 Question Type : MCQ Option Shuffling : No

*

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
“Tam no great delinquent in such matters” means
1) Ido not forget books and walking sticks
2) Ido not lose many of my articles in trains and taxies.
3) Tlose all my articles in trains and taxies

4) 1remember every article I carry in trains and taxies
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Question Number : 200 Question Id : 3944846656 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The word “seldom” means

[) random
R
&
2) often N
N
3) frequently 4‘\0
&
4) rarely %‘\\Q
S
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